National Testing Agency

Question Paper Name:
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

41 Russian 06th DEC 2023 Shift I
41 Russian

2023-12-06 20:23:28

180

300

Yes

Russian and General Paper

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time :

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

SectionId :

Section Number:

1
878270364
0

180

No

No

300
No
Cant View

No

General Paper

878270678

1



Section type :

Online

Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 878270935
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827021010 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension



The following table shows the income and expenditure (in ¥ millions) of a certain Company during
the five years from 2018 - 2022, along with profit % and loss % incurred in all these years. Some
values are missing in the table (indicated by ') that you are expected to calculate if required.
Based on the data in the table, answer the questions that follow.

Year-wise Income, Expenditure and Profit/Loss of a Company

Year |Expenditure (in3 millions) | Income (in¥ millions) | Profit %(+) / Loss %()
2018 192 . +15%

2019 248 = s

2020 210 . +20%

202 - 359.6 :

2022 £ : -12%

Sub questions

Question Number : 1 Question Id : 87827021011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Profit in 2020 is % more than in 2018 :
(1) 56.76

(2) 44.98

(3) 45.83

(4) 59.82
Options :

87827083141. 1
87827083142. 2
87827083143. 3

87827083144. 4

Question Number : 2 Question Id : 87827021012 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n 2022, if the expenditure of company was 15% more as compared to 2019, then the income of the
company in 2022 was (in < million) :

(1) 250976

(2) 248.976

(3) 250936

(4) 230.936
Options :
87827083145. 1
87827083146. 2
87827083147. 3

87827083148. 4

Question Number : 3 Question Id : 87827021013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[£ the loss incurred by the Company in 2019 was ¥33.2 million more than the profit of the Company
in 2018, then the loss percent incurred by the Company in 2019 was :

) 17%
) 2%
) 25%
) 23%
Options :
87827083149. 1
87827083150. 2
87827083151. 3

87827083152. 4

Question Number : 4 Question Id : 87827021014 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n 2021, if the profit percent (%) of the company was higher by 60% of the profit percent (%) in
2018, then the percent increase (approximately) in the expenditure of the Company in 2021 as
compared to the previous year would be :

1) 4%
Q) H%
(3) 41%
@) 38%
Options:

87827083153. 1
87827083154. 2
87827083155. 3

87827083156. 4

Question Number : 5 Question Id : 87827021015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

What is the average of the income of the Company in 2018 and 2020 (in < million) ?
1) 2208
) 2364
3) 2522
4)  246.6

2

— — |

Options :

87827083157. 1
87827083158. 2
87827083159. 3
87827083160. 4



Question Id : 87827021010 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 87827021011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

2020 H B3 &9 2018 & &9 § fehdd % Af¥eh g2

(1) 56.76
(2) 44.98
(3) 45.83
(4) 59.82

Options :

87827083141.1



87827083142. 2
87827083143. 3

87827083144. 4

Question Number : 2 Question Id : 87827021012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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4) 230.936
Options :
87827083145. 1
87827083146. 2
87827083147. 3

87827083148. 4

Question Number : 3 Question Id : 87827021013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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87827083149. 1
87827083150. 2
87827083151. 3

87827083152. 4

Question Number : 4 Question Id : 87827021014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083153. 1
87827083154. 2
87827083155. 3

87827083156. 4

Question Number : 5 Question Id : 87827021015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 2208
(2) 2364
(3) 2522
(4) 246.6

Options :



87827083157. 1
87827083158. 2
87827083159. 3

87827083160. 4

Sub-Section Number : 2
Sub-Section Id : 878270936
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827021016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The organised bodies of information stored in memory that bias the way new information is
interpreted, stored, and recalled is known as

(1)  Constructive process
) Schemas
3)  Chunks
)

Association
Options :
87827083161. 1
87827083162. 2
87827083163. 3
87827083164. 4

Question Number : 6 Question Id : 87827021016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827083161. 1
87827083162. 2

87827083163. 3
87827083164. 4

Question Number : 7 Question Id : 87827021017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the components of pedagogical analysis of teaching and learning ?
(A) Objective formulation

(B) Selection of teaching methods and materials

(C) Content analysis

(D) Selection of evaluation devices

Choose the correct answer from the options given below :
(1) (B), (€)and (D) Only

() (A) and (D) Only
(3) (A) () (C)an (D)
(4) (B)and (C) Onl
Options :

87827083165. 1
87827083166. 2

87827083167. 3



87827083168. 4

Question Number : 7 Question Id : 87827021017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083165. 1
87827083166. 2
87827083167. 3

87827083168. 4

Question Number : 8 Question Id : 87827021018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I:  In teacher centred learning the teacher gives up the traditional decision making
role and chooses instead the role of a facilitator who focuses on students feelings.

Statement I In learner centred method the teacher attempts to see the world as the students
see it, creating an atmosphere of empathetic communication.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are correct
2

2
(3) Statement I is correct but Statement I is incorrect
4

Both Statement I and Statement II are incorrect

Statement [ 15 incorrect but Statement II is correct
Options:

878270831609. 1

87827083170. 2

87827083171. 3

87827083172. 4

Question Number : 8 Question Id : 87827021018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083169. 1
87827083170. 2
87827083171.3

87827083172.4

Question Number : 9 Question Id : 87827021019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I:  Theability o generate unusual, yet appropriate, responses to problems or questions
15 known as convergent thinking,

Statement IT :  The ability to produce responses that are based primarily on knowledge and logic
is known as divergent thinking,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are correct
2

2
(3) Statement I is correct but Statement I is incorrect
4

Both Statement I and Statement II are incorrect

Statement [ 15 incorrect but Statement II is correct
Options:

87827083173. 1

87827083174. 2

87827083175. 3

87827083176. 4

Question Number : 9 Question Id : 87827021019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083173. 1
87827083174. 2
87827083175.3

87827083176. 4

Question Number : 10 Question Id : 87827021020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : No test provides a perfect picture of a student's abilities and skills.
Reason (R) : A test s only one small sample of a student's performance,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct
(4) (A)is not correct but (R) is correct

Options:

87827083177. 1

87827083178. 2

87827083179. 3

87827083180. 4

Question Number : 10 Question Id : 87827021020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



87827083177.1
87827083178. 2
87827083179. 3

87827083180. 4

Question Number : 11 Question Id : 87827021021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An epistemological position that advocates the application of the methods of the natural sciences
to the study of soctal reality and beyond, refers to

(1) Positivism

2)  Interpretivism
3)  Objectivism

)

(
(
l

Constructionism
Options :
87827083181. 1
87827083182. 2
87827083183. 3

87827083184. 4

Question Number : 11 Question Id : 87827021021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827083181. 1
87827083182. 2
87827083183.3
87827083184. 4

Question Number : 12 Question Id : 87827021022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the similarities between quantitative and qualitative research :
(A) Both are concerned with data reduction.

(B) Both are concerned with variation in data.

(C) Both lay emphasis on contextual understanding,

(D) Both lay emphasis on generalization.

(E) Both are concerned with answering research questions.

Choose the correct answer from the options given below :

(1) (A) and (D) Only

(2) (A), (B), (D) and (E) Only
(3) (B) (D) and (E) Only

(4) (A), (B) and (E) Only
Options :

87827083185. 1

87827083186. 2



87827083187. 3
87827083188. 4

Question Number : 12 Question Id : 87827021022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083185. 1
87827083186. 2
87827083187.3

87827083188. 4

Question Number : 13 Question Id : 87827021023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dentify the correct reasons for writing a literature review :
A) You need to know what is already known in connection with your research area.

I

(

(B) It may help you to develop an analytic framework.
(C) It will help with the interpretation of your findings.
(D) It may suggest further research questions for you.

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (B), (C) and (D) Only
(3) {A) () and (D) Only
(4 (4), (B) () and (D)
Options:

87827083189. 1
87827083190. 2
87827083191. 3

87827083192. 4

Question Number : 13 Question Id : 87827021023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083189. 1

87827083190. 2

87827083191. 3
87827083192. 4

Question Number : 14 Question Id : 87827021024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the sampling issues that are problematic in online surveys :
(A) Many people use more than one internet service provider.

(B) Every person has only one (unique) email address.

(C) A house hold may have one computer but several users.
(D) Internet users are a biased sample of the population.
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2)  (B), (C) and (D) Only
(3) (A), (B)and (D) Only
(4)  (A), (C) and (D) Only
Options:

87827083193. 1
87827083194. 2
87827083195. 3

87827083196. 4

Question Number : 14 Question Id : 87827021024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083193. 1
87827083194. 2
87827083195. 3

87827083196. 4

Question Number : 15 Question Id : 87827021025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following is an open source software for data analysis ?
(1) SPSS

(2) MATLAB
3) R

(4) MINITAB
Options :
87827083197. 1
87827083198, 2

87827083199. 3



87827083200. 4

Question Number : 15 Question Id : 87827021025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083197. 1

87827083198. 2

87827083199. 3

87827083200. 4

Question Number : 16 Question Id : 87827021026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

When the primary function of communication is to convey new information, it is known as
1) Subliminal function

8 Single task function
(3) Referential function
(4) Differential function
Options :
87827083201. 1
87827083202. 2

87827083203. 3



87827083204. 4

Question Number : 16 Question Id : 87827021026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 R %1 Witk Rl 7€ gae it e A o 39 R w0 S S g 2

(1) aad e
(2) Tl YA F
(3) freumeH +
(4) fad 7
Options :

87827083201. 1
87827083202. 2
87827083203. 3

87827083204. 4

Question Number : 17 Question Id : 87827021027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

One of the four maxims of conversation, quantity maxim, reflects the right amount of :
(1) Paradigms

(2) Syntagms

(3) Similes
(4) Information
Options :
87827083205. 1
87827083206. 2

87827083207. 3



87827083208. 4

Question Number : 17 Question Id : 87827021027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083205. 1
87827083206. 2
87827083207. 3

87827083208. 4

Question Number : 18 Question Id : 87827021028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following contextual factors determine meaning in communication behaviour ?
A)  Physical locafion

B) Participants

(
(
(C) Preceding events
(D) Nonfunctional goals
(E) Absence of audience

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

() (B), (C) and (D) Only
() (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options :

87827083209. 1
87827083210. 2
87827083211. 3

87827083212. 4

Question Number : 18 Question Id : 87827021028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827083209. 1
87827083210. 2
87827083211.3

87827083212. 4

Question Number : 19 Question Id : 87827021029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following belong to the field of proxemics in communication ?
(A) Facial expressions
(B) Crowding
(C) Territoriality
(D) Personal space

(E) Eye contact

Choose the correct answer from the options given below :
(1) (A), (B) and () Only

(2)  (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4) (A) (D) and (E) Only
Options:

87827083213. 1
87827083214. 2
87827083215. 3
87827083216. 4

Question Number : 19 Question Id : 87827021029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafad # 9 -9 =R 4 gHe fomn & &5 9 et € 2

(A) HEH FEE

(B) fe-wre

(C) YIewiHa

(D) SAfemTd &

(E) =g Hh

i feu 1 fosedl ° 9 WEr I F T FifC:

(1) < (A), (B) 3T (C)

(2) 94 (B), (C) 3 (D)

(3) < (C), (D) SR (E)

(4) I (A), (D) 3R (E)
Options :

87827083213. 1
87827083214. 2
87827083215. 3

87827083216. 4

Question Number : 20 Question Id : 87827021030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : - According to Buddhism, linguistic communication should be used to adopt moral
stance.

Statement (1) : Critical introspection is not preferred by Buddhists as part of intra-personal
communication.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement I is correct but Statement I1 is incorrect.
4

Both Statement [ and Statement II are incorrect.

Statement [ s incorrect but Statement II is correct.
Options:

87827083217. 1

87827083218. 2

87827083219. 3

87827083220. 4

Question Number : 20 Question Id : 87827021030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g A fem E:
HL: A o o R, ST SR 1 e A 9 A i o o o frn o e

TR A 2 ST e & sl don o e & w0 o oo 7 & 9
2l

T O o i , A fou T ol ¥ 9 W S 9 @i
(1) B HR I T2

(2) TR B IS o €

() FRITA §, o w11 9 2|

(4) TR R 3, T R 1 2



Options :

87827083217. 1
87827083218. 2
87827083219. 3

87827083220. 4

Question Number : 21 Question Id : 87827021031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n an arithmetic series having 50 terms, the first and last terms are 3 and 199, respectively, What is
the sum of the series ?

(1) 4950
Q) 3050
B) 5150
@) 4850

H=

Options:

87827083221. 1
87827083222. 2
87827083223.3

87827083224. 4

Question Number : 21 Question Id : 87827021031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

50 Vel el T e et H Jom o St 08 A 3 AT 199 € 36 Sl & AW # g
(1) 4950
(2) 5050
(3) 5150
(4) 4850



Options :

87827083221. 1
87827083222. 2
87827083223.3
87827083224. 4

Question Number : 22 Question Id : 87827021032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the next term (?) in the following letters series AM, GJ, MG, SD, 7, ...
(1) XZ

Options:

87827083225. 1
87827083226. 2
87827083227.3

87827083228. 4

Question Number : 22 Question Id : 87827021032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fe S1ar Sf@el § el Ug (?) o1 vl @ |
AM, G] MG, SD, , ..oovme.

(1) XZ
(2) YC
(3) XA
(4) YA



Options :

87827083225. 1
87827083226. 2
87827083227.3
87827083228. 4

Question Number : 23 Question Id : 87827021033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sum and difference of two numbers are 19 and 7, respectively. What is the sum of their
squares ?

) 190
) 200
) 205
) 210

3

1
2
k
(4
Options:

87827083229. 1
87827083230. 2
87827083231.3

87827083232. 4

Question Number : 23 Question Id : 87827021033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T HET AN T SR FH: 19 SR 7 § 1 37H G H AT F R ?
(1) 190
2) 200
3) 205
)

(
(
(4) 210



Options :

87827083229. 1
87827083230. 2
87827083231.3
87827083232. 4

Question Number : 24 Question Id : 87827021034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A certain sum of money doubles in 4 years at a compound rate of interest per annum. The rate of

interest is [Given ; 2/2 = 1414, 2/ = 1.1892)

1) ~149%

Q) ~168%
3) ~189%
(4

S |

) ~12.9%
Options:
87827083233. 1
87827083234. 2
87827083235. 3

87827083236. 4

Question Number : 24 Question Id : 87827021034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T ST e TRt T e 1 AR oY G @ W ¢

(954 : 21/2 =1414, 21/4=11892)

(1) ~14.9%

(2) ~16.8%
(3) ~18.9%
(4) ~12.9%
Options:
87827083233. 1
87827083234. 2
87827083235. 3

87827083236. 4

Question Number : 25 Question Id : 87827021035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A train moving at a speed of 63 kmy/hr enters a railway station and crosses the platform in 20 s,
If the length of the train is 100 m, what is the length of the platform ?

1) B0m
2 Mm
3 B0m
4 30m

Options :

87827083237. 1
87827083238. 2
87827083239. 3
87827083240. 4

Question Number : 25 Question Id : 87827021035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

63 F 7/ T 0 T8 O S T A W o € 4R e 6 208, 5 R
?Ihiamaaﬁaamoﬁaé,wmﬁmﬁmﬂ?
150 Fiet

Options :

87827083237. 1
87827083238. 2
87827083239. 3

87827083240. 4

Question Number : 26 Question Id : 87827021036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per square of opposition which of the following propositions are so related that if one of them
is true, the other must be false and vice-vessa ?

(A)  All mammals are vertebrates,

(B) No mammals are vertebrates.

(C) Some non mammals are not vertebrates.

(D) Some mammals are not vertebrates.

Choose the correct answer from the options given below :
o) (¢ ()Onlv

@) (4and (O)On

(3) (A)and (B) Only

(4) Q) and (D) Only

Options :

87827083241.1



87827083242. 2
87827083243. 3

87827083244. 4

Question Number : 26 Question Id : 87827021036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fet o S 8 9§ 9 o1 50 e e € o 7 4 O 9 € 7 G e
9 T A fefe €7

(A) W we BE) 2 2

(B) S o TR e ) 2 ¢

(C) F8 - W] 74l 20 ¢

(D) 3 WA el 7 4 €

A fou o foredl ¥ 0 W@ S A T A
(1) 9 (&) 3R (D)

) ¥ (4) & (C)

() (4) o (B

() ¥ () D)

Options :

87827083241. 1
87827083242. 2
87827083243. 3
87827083244. 4

Question Number : 27 Question Id : 87827021037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent ?
(A) No liquids are beverages.

(B) No beverages are liquids.
(C) All non-beverages are non-liquids.
(D) All non-liquids are non-beverages.
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (A)and (C) Only
(3) (B) and (D) Only
(4) (C) and (D) Only
Options:
87827083245. 1
87827083246. 2
87827083247. 3

87827083248. 4

Question Number : 27 Question Id : 87827021037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=1 5 9 o9 | FeF aifthe 99 979 € 2
(A) FIE it T T wered T B

(B) hrs i U UeTe TR &I B ¢

(C) Gsft R-U7 yered IR-A B B |

(D) B\eft TR-a 1R-97 uered & B

9 fau Tu fasredl § 9 WEr ST 1 =TT HIfC:
(1) =had (A) TR (B)

(2) HFA (A) 3R (Q)
(3) ad (B) ¥R (D)
(4) FEE (C) R (D)
Options :

87827083245. 1
87827083246. 2
87827083247. 3

87827083248. 4

Question Number : 28 Question Id : 87827021038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the statement “Some rectangles are not squares” is given as true, then according to the square of
opposition which of the following statements can by immediately inferred to be false ?

(1) All rectangles are squares,

(2) Some rectangles are squares,

(3)  No rectangles are squares.
e

4)  Some squares are not rectangles.
Options :
87827083249. 1

87827083250. 2



87827083251. 3

87827083252. 4

Question Number : 28 Question Id : 87827021038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 TR 59 9 T A0 ¢ 9 6 WA IR ¢ foe o o g e 4§ fom A 9
TR A ST fo o el )

(1) 6 o B

) T3 g E

() 4 o o 7 2 2
(4) 8 T 9 TR 2 ¢

Options :

87827083249. 1
87827083250. 2
87827083251. 3

87827083252. 4

Question Number : 29 Question Id : 87827021039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"More laws have been added on the books in past five years than ever before, yet the number of
crimes committed during the same period has significantly increased. Therefore, to bring the crime
tate down, we must eliminate the laws”. Which fallacy is committed in the above statement ?

(1) Red herring

2) Straw man

3)  Slippery slope
4)  False cause

(
(
(



Options :

87827083253. 1
87827083254. 2
87827083255. 3

87827083256. 4

Question Number : 29 Question Id : 87827021039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"o e o e f e o el e s e e 0 ety i e 6 S e
1 5 I 9 3 19 A A o o e o e | S

Options:

87827083253. 1
87827083254. 2
87827083255. 3

87827083256. 4

Question Number : 30 Question Id : 87827021040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : - According to classical Indianschool of logic(Nyiya) the argument “Sound s eternal
because it is audible” is fallacious.

Statement (1) : According to classical Indian school of logic the argument “Sound is eternal
because it is audible” commits the fallacy of irregular middle term where the
middle term is too wide.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct,
2

(2) Both Statement I and Statement IT are incorrect.
(3) Statement 1 is correct but Statement I1 is incorrect
4

4)  Statement I is incorrect but Statement II is correct,

Options:

87827083257. 1
87827083258. 2
87827083259. 3
87827083260. 4

Question Number : 30 Question Id : 87827021040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 ) A foU T
WO 1: ST A P o o o 3 e & i 7 e e 9 e ¢

FURI1: T IR 27 7 & R e IV & i 7% 9 ¢ 4 e 04
Y ¢ 7 99 G o4 oA

TS B % e H, el o0 T o] A 9 R SR A
(1) TR TR T

() 1R HR IS o £

) FMIT §, et Ho 11 00 21

) TR A £, o o 1L 2

Options :

87827083257. 1

87827083258. 2

87827083259. 3

87827083260. 4

Question Number : 31 Question Id : 87827021041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In comparison to secondary computer storage, primary storage is :
(1) Slower, more expensive per unit of storage and persistent
(2) Faster, less expensive per unit of storage and persistent
(3) Faster more expensive per unit of storage and not persistent
(4) Faster, less expensive per unit of storage and not persistent
Options :

87827083261. 1

87827083262. 2

87827083263. 3

87827083264. 4



Question Number : 31 Question Id : 87827021041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fgdiorer HogeX JYeRU &1 qor §, Wi ser
(1) e, wfg e dero sifier weien ik gad € S
(2) i, 9fd gfe sieru F9 weien SR gaqd g §|
(3) g, fd e sierw sifusw wiien IR gad =& e g1
(4) =, 9fd gfe vero w9 Gt IR gad & e ¢ |
Options :
87827083261. 1
87827083262. 2

87827083263. 3
87827083264. 4

Question Number : 32 Question Id : 87827021042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A security system records video footage. One minute of video requires 180 MegaBytes of storage.
The recording system can store several hours of video footage. How much storage would be needed
for 2 hours of video footage ? (1k =1024) :

(1) 192 Giga Bytes
(2) 203 Giga Bytes
(3) 211 Giga Bytes
(4) 224 Giga Bytes
Options:

87827083265. 1
87827083266. 2

87827083267. 3



87827083268. 4

Question Number : 32 Question Id : 87827021042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T U T el ey () e e €1 O e ol f T st 190 e
SR it 1 e o o W2 3 o o s o T §12.98 % e 3 faw
fo e T A SR 27 (1k=1024)

1) 192 TeEe
) 203 ek
) 211 TR
) 204 TIREE

Options :

a2

(
2
g
(4

87827083265. 1
87827083266. 2
87827083267. 3

87827083268. 4

Question Number : 33 Question Id : 87827021043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
If (P)g represents the number P in base - 8, then (144)s + (175)q =

(1) (225)4
(2) (341)g
(3)  (441)
(4) (314)q
Options :

87827083269. 1



87827083270. 2
87827083271. 3

87827083272. 4

Question Number : 33 Question Id : 87827021043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g (P)g 99 - 8 H P =l T €, dI(144)g + (175)g =

(1) (225)g
(2) (341)4
(3) (441)g
(4) (314)g
Options :

87827083269. 1
87827083270. 2
87827083271. 3
87827083272. 4

Question Number : 34 Question Id : 87827021044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : IPv6 address in computer networking is 4 times larger than an [Pv4 address

Statement (I1) : The IP address gives the location of a device on the Internet, whereas the MAC
address identifies the device connected to the Internet

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct,
2
3
(4

) Both Statement I and Statement II are incorrect.
) Statement I is correct but Statement 11 15 incorrect.
)

Statement I is incorrect but Statement II is correct,

Options:

87827083273. 1
87827083274. 2
87827083275. 3
87827083276. 4

Question Number : 34 Question Id : 87827021044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g A ferm E:

WO (1) O Yo [Pvd T 1 T [Pt TS 4 T 991 2 ¢

®OA (1) [P UG 20 W fo 97 ) afiefs Ve 0 € 0% MAC U TR 8§ e A
Rl 4 £

TS 9 35 e A, A for T fovedt 2 W A

(1) B HR I T2

(2) TR B IS o €

() FRITA §, o w11 9 2|

(4) TR R 3, T R 1 2



Options :

87827083273. 1
87827083274. 2
87827083275. 3

87827083276. 4

Question Number : 35 Question Id : 87827021045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Match List - T with List - IL

List - I List - II
(Graphical User Interface Term) (Description)
(A) Window () Represents a folder or a progtam - can be seen
within a window or free standing on screen
(B) Icon () Contains lists of options for a certain program
(C) Menu () Used toselect menu options/icons/ close/open
windows
(D) Pointer (IV) Represents an area on the screen that displays

information for a specific program
Choose the correct answer from the options given below :

(1) (AR, (BMD (CH{ID, DHIV)
) (BHIV), (CA

(2) (Al ) (DA
(3) (ARIV), (BHD) (CHID), (DM
(4 (AMT), (B)-{), (CHLV), (DHI)
Options:

87827083277.1
87827083278. 2
87827083279. 3

87827083280. 4



Question Number : 35 Question Id : 87827021045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl § 11 91 o aifee;

Tl Tl
(T3 TeleRT SIS ) (o)

1) fig () T 4o T 51 291 € - ffg) o e afee o
R 9 8 9 9 ¢

B & (1) 39 forh T &g e 1 et €

0 W (1) 38 T ¥, frey e el e el o 7
o foe fon s &1

D) &R (IV) B T & e ot & o o o feo
) & &

At few T foedl o 9 T I 9 A

(1) (AW, (B0, (CHID, (DHIV

(2) (AKD), (B-V), (CHI), (DA

(3) (ANIV), (B, (CHI). (DA

(4 (AKD, B}0, (O4IV), (DA

Options :

87827083277. 1
87827083278. 2
87827083279. 3

87827083280. 4

Question Number : 36 Question Id : 87827021046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are true about Producer Gas ?
A) Ttis the result of conversion of solid biomass into gaseous fuels.

(
(B) Itis done at lower temperature.

(C) It can be used as fuel in internal combustion engines.

(D) Itis produced in the complete absence of oxygen.

(E) Hydrogen and methane present in Producer Gas determine its heating value.
Choose the correct answer from the options given below :

(1) (4), (B)and (C) Only

(2)  (B)and (D) Only
(3) (C), (D)and (E) Only
(4) (), (C)and (E) Only
Options:

87827083281. 1
87827083282. 2
87827083283. 3

87827083284. 4

Question Number : 36 Question Id : 87827021046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e T & A | Fretfeted § & PH-9 98§

(A) 7 3 99 Tefa ¢ et fom & Wi 7 ¥iowd g

(B) @ UM R ol ST €

(C) 3w WA STk Cg 3919 W 38 o %Y ¥ fohel & el € |

(D) 8 aieier o forl e foen 1l &1

(F) e g ¥ suftery/fed areion oiR o e o fruifid &% €
A fou e foredl H 9 W& I T FIC

{ (A), (B) & (C)
2

3
(

)
)
)
4)
Options:

87827083281. 1
87827083282. 2
87827083283.3

87827083284. 4

Question Number : 37 Question Id : 87827021047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The convention on biological diversity is dedicated to promote sustainable development conceived
as a practical tool for translating the principles of :

(1) Agenda 20
(2) Agenda2]
(3) Agenda 22
(4) Agenda 23

Options :

87827083285. 1



87827083286. 2
87827083287. 3

87827083288. 4

Question Number : 37 Question Id : 87827021047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e fafaem e fe fagi ) wrfen < & fod oo / fTes e & %9 4 e
T foe 1 9 ¢  felt Wi 7

()

) g
() A 2
) B
Options :

87827083285. 1
87827083286. 2
87827083287. 3

87827083288. 4

Question Number : 38 Question Id : 87827021048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the correct sequence of steps followed from initial to last during water treatment process ?
(A) Coagulation

(B) Filtration

(C) Screening

(D) Sedimentation

Choose the correct answer from the options given below :

(1) 0)©) B) (4)

2) (D) (), (&) ()
3 (€. 0) ) 6)
(4) (O O) (B), (&)
Options:

87827083289. 1
87827083290. 2
87827083291. 3

87827083292. 4

Question Number : 38 Question Id : 87827021048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T S Y o U SR T et e o e (e ) afem) o o s

(A) e

B) e

(€)

D)

A fe 0 feeredl o WY O A T @i
(1) () (©) (B) (A)

2 (D) (©) )@

3) (© ) (A) B

4 (© ) B) (A)



Options :

87827083289. 1
87827083290. 2
87827083291. 3
87827083292. 4

Question Number : 39 Question Id : 87827021049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : DDT bioaccumlates in tissues of many species including humans.
Reason (R) :  DDT is relatively insoluble in water but readily soluble in fats and ofs.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct
4

4)  (A)is not correct but (R) is correct

Options:

87827083293. 1
87827083294. 2
87827083295. 3

87827083296. 4

Question Number : 39 Question Id : 87827021049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083293. 1

87827083294. 2

87827083295. 3

87827083296. 4

Question Number : 40 Question Id : 87827021050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements ;

Statement (1) : Millennium Development Goals (MDGs) were mainly targeted at developing or
poor countries.

Statement (I1) : Sustainable Development Gaols (SDGs) are targeted at all countries whether
developed, developing or poor.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect,
(3) Statement I is correct but Statement I1 is incorrect.
(4)  Statement I is incorrect but Statement I1 is correct.

Options :



87827083297. 1
87827083298. 2
87827083299. 3

87827083300. 4

Question Number : 40 Question Id : 87827021050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083297. 1

87827083298. 2

87827083299. 3

87827083300. 4

Question Number : 41 Question Id : 87827021051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following was recommended by the Hunter Commission ?

(1)  Abolition of higher education in India

(2) Restricting women's entry into colleges

(3) Participation of private enterprise in higher education

(4) Encouraging establishment of more and more public universities in rural India
Options:

87827083301. 1

87827083302. 2

87827083303. 3

87827083304. 4

Question Number : 41 Question Id : 87827021051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083301. 1

87827083302. 2

87827083303. 3
87827083304. 4

Question Number : 42 Question Id : 87827021052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The University of Punjab was established at lahore in 1882 to reduce the burden of the university
of :

) Bombay
) Calcutta
) Madras
) Himachal Pradesh

1
2
3
(4
Options:

87827083305. 1
87827083306. 2
87827083307. 3

87827083308. 4

Question Number : 42 Question Id : 87827021052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

1233

Options :

87827083305. 1
87827083306. 2
87827083307. 3
87827083308. 4

Question Number : 43 Question Id : 87827021053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Which of the following steps were taken by the university grants commission during the second
five year plan?
[ntroduction of three-year degree course
B) Improvement in libraries and laboratories

D) No new departments were approved in the universities

(

(

(C) Increase in the salaries of universiry teachers
(

E

—

Hindi was made the optional medium of instruction besides local languages in all Indian
universities
Choose the correct answer from the options given below :

(1) (&), (B) and (C) Only
(2)  (B), (C) and (D) Only
) (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options :

878270833009. 1
87827083310. 2
87827083311. 3

87827083312. 4

Question Number : 43 Question Id : 87827021053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083309. 1

87827083310. 2

87827083311. 3

87827083312. 4

Question Number : 44 Question Id : 87827021054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following research institutes were established between the first and third five year
plans ?

(A) Indian Institute of Science

(B) Saha Institute of Nuclear physics

(C) Lok Bharati

(D) Gandhi Gram Rural Institute

(E) Raman Research Institute

Choose the correct answer from the options given below :
(1) (), (B)and (C) Only

(2) (A), (D) and (E) Only

(3) (B),(C) and {£) Only

(4) (8)(C)and (D) Ony

Options :

87827083313. 1
87827083314. 2
87827083315.3
87827083316. 4

Question Number : 44 Question Id : 87827021054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827083313. 1
87827083314. 2
87827083315.3

87827083316. 4

Question Number : 45 Question Id : 87827021055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : The Nalanda University of ancient India attracted students from various parts of
Asia,

Statement (II) : The Nalanda University was overshadowed by the universities in Europe and
Arabia immediately after its establishment.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement I is correct but Statement I1 is incorrect.
4

Both Statement [ and Statement II are incorrect.

Statement [ s incorrect but Statement II is correct.
Options:

87827083317. 1

87827083318. 2

87827083319. 3

87827083320. 4

Question Number : 45 Question Id : 87827021055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083317. 1
87827083318. 2
87827083319. 3
87827083320. 4

Sub-Section Number : 3
Sub-Section Id : 878270937
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827021056 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage carefully and answer the questions :

The most important part of a person’s life is his childhood. The learning our young citizens receive
at home, in school and in society between the ages of five and sixteen will shape them for the rest
of their Lives. during this phase, they need a good value based education to become enlightened
human beings.

Parents and teachers need to have an integrated mission : education with a good value system at
home and in school. Education is fundamental to building the nation of our dreams. All our
aspirations as a society are tied to the capabilities of our youngsters, who form such a large part of
our population.

A child's individuality and creativity need to be given due importance in our education. The
curriculum needs to be mnovative and the examination system overhauled so that it recognizes
and evaluates creativity and new thinking rather than the memorization of facts. Schools must
move away from being centres of education alone, instead becoming centres of knowledge and
skill development.

Sub questions

Question Number : 46 Question Id : 87827021057 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A child becomes an enlightened human being as a result of the value based education received ;
(A) At home only

(B) Inschool only

(C) At home, in school and in society
(D) Insociety only

(E)  Between the ages of five and sixteen

Choose the correct answer from the options given below :
(1) (4) &(E) Only

2 WDk ()Only
) ()& (E)Onl

4 (A& ()OHIY
Options :

87827083321. 1
87827083322. 2
87827083323. 3
87827083324. 4

Question Number : 47 Question Id : 87827021058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is essential for building the nation of our dreams ?
(1) More schools
Value based education

—
L3 D
e

(
(

Options:

) Democracy
) Rapid Urbanization

=

87827083325. 1

87827083326. 2



87827083327. 3

87827083328. 4

Question Number : 48 Question Id : 87827021059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Who need to have an integrated mission : education with a good value system at home and in
school ?

(1) Politicians

(2) Philanthropists

(3) Parents and Teachers
(4)  Businessmen
Options:
87827083329. 1
87827083330. 2
87827083331. 3

87827083332. 4

Question Number : 49 Question Id : 87827021060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A good examination system should :

(A) Recognize a child’s creativity

(B) Recognize a childs individuality

(C) Encourage rote learning

(D) Encourage new thinking

Choose the correct answer from the options given below :
(1) (A), (B) & (D) Only

(2)  (B) & (C) Only

(3) (A), (B) & (C) Only
(4) (O & (D) Only
Options:

87827083333. 1
87827083334. 2
87827083335. 3
87827083336. 4

Question Number : 50 Question Id : 87827021061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [:  Schools should only be centres of education.
Statement IT:  Youngsters form a minimal part of our population.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect,
(3) Statement s correct but Statement I1 is incorrect.
(4)  Statement s incorrect but Statement 11 is correct
Options :

87827083337. 1



87827083338. 2
87827083339. 3

87827083340. 4

Question Id : 87827021056 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827021057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827083321. 1
87827083322. 2

87827083323. 3

87827083324. 4

Question Number : 47 Question Id : 87827021058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) ToIRd TR
Options :

87827083325. 1



87827083326. 2
87827083327. 3

87827083328. 4

Question Number : 48 Question Id : 87827021059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270833209. 1
87827083330. 2

87827083331. 3

87827083332. 4

Question Number : 49 Question Id : 87827021060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083333. 1
87827083334. 2
87827083335. 3
87827083336. 4

Question Number : 50 Question Id : 87827021061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827083337. 1
87827083338. 2
87827083339. 3

87827083340. 4

Russian
Section Id : 878270679
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 878270938



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 87827021062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

BcrabIe BMECTO TOYEK NPBINBHOE 0 CMBICTY CTIOBO (GKEHI[MHA BCKOMINA M
CTama... B Jab ¢ OeCTIOKOHCTBOM. ),

CMOTPETHCA
HaCMOTPETHCA
BCMATPHBATD
BCMATPHBAThCA

Options:

87827083341. 1
87827083342. 2
87827083343.3
87827083344. 4

Question Number : 51 Question Id : 87827021062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

BcTabe BMECTO TOYEK TPABINBHOE 1O CMEICTY CTOBO (GKEHI[MHA BCKOMIHTA H
CTaNa... B Jamb ¢ OeCTIOKOHCTBOM. ),

CMOTPETLCA
HaCMOTPETBCA
BCMATPHBATh
BCMATPHBATbCA

Options :



87827083341. 1
87827083342. 2
87827083343. 3

87827083344. 4

Question Number : 52 Question Id : 87827021063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

JlaiiTe onpezeneHue 3ByKa [y] —

TTIACHBIH 3aJHETr0 psa HH3KOIO IoAbEMa
TTIACHBIN 3aJHETO PSa BEICOKOI O ITOABEMA
ITIACHBIHN ITIEPeJHET O PSAAa BEICOKOIO MOoAhEMA
4. TITacHBIN CPeIHEro psjia BEICOKOTO II0AbEMA

s

Options :

87827083345. 1
87827083346. 2
87827083347.3

87827083348. 4

Question Number : 52 Question Id : 87827021063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Haiite ompezneneHue 3ByKa [y] —

l. TmacHBIH 3aJHETO PSAA HH3KOIO MOAbEMA

2. TIJacHBIN 3aJHEr0 psia BEICOKOrO ITOIbEMa

3. IJacHBIN MepeJHETO PSaa BEICOKOTO ITOAbEMA
4. TIACHBIH CPeIHEro psjia BEICOKOTO ITOIbEMA

Options :



87827083345. 1
87827083346. 2
87827083347. 3

87827083348. 4

Question Number : 53 Question Id : 87827021064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OtMeThTe NMpaBIIbHbIH 3KBHBAIEHT cokpamerns « CouncilofMutualEconomicAid
(COMECON)»:

[. CoBer cOBMECTHOIO X034iCTBA

2. CoBeT B3aHMHOIT OEPEKIHBOCTH

3. CoBeT SKOHOMIYECKOH B3aHMONOHIMAHILT
4. CoBeT cOBMECTHOH SKOHOMHI

Options :

87827083349. 1

87827083350. 2

87827083351. 3

87827083352. 4

Question Number : 53 Question Id : 87827021064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



OrmeTbTe MpaBHIbHbIH dkBrBATEHT cokparmers « CouncilofMutualEconomicAid
(COMECON)»:

[. CoBer cOBMECTHOIO X03SICTBA

2. CoBET B3aHMHOI OEPEAIHBOCTH

3. CoBET 5KOHOMHYECKOIT B3AHMOTIOHHMAHHA
4. CoBeT COBMECTHOH 3KOHOMIH

Options :

87827083349. 1

87827083350. 2

87827083351. 3

87827083352. 4

Question Number : 54 Question Id : 87827021065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMETBTe TPABIIIBHBLH TIEPEBO PYCCKOH HIHOMBI «HATOKHUTH Ha Ce0S PYKH.

1. to surrender

2. to calm down

3. to fight

4. to commit suicide
Options :
87827083353 1
87827083354, 2
87827083355. 3
87827083356. 4

Question Number : 54 Question Id : 87827021065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

OTMeTbIe TPaBHIBHEL TePEBOT PYCCKOH HAOMEI «HATOKUTD Ha ce0 PYKI.

1. to surrender

2. to calm down

3. to fight

4. to commit suicide
Options :
87827083353. 1
87827083354. 2
87827083355. 3

87827083356. 4

Question Number : 55 Question Id : 87827021066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

BcrasbTe BMECTO TOUEK HEOOXOMIMOE Ipyactie; «B kmyOe coGpanmich CTYIEHTE,
..Ha BEYEP.)

TPUTTAIIABIIHE
TPUTTACHBIIIE

TPUTTIATEHHEIE
TPUTTIAMIIALOITIHE

Options :

87827083357. 1
87827083358. 2
87827083359. 3

87827083360. 4

Question Number : 55 Question Id : 87827021066 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

BcrasbTe BMECTO TOYEK HEOOXOMIMOE Ipryactie:; «B Kmybe cobpanmich CTYIEHTH,
..HA BEYEP.)

TPUTTIAITABIIIE
TIPUTTIACHBIIIE

TIPHITIAIEHHEIE
TPUTTIAITAFONITHeE

Options :

87827083357. 1
87827083358. 2
87827083359. 3
87827083360. 4

Question Number : 56 Question Id : 87827021067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kakoe 13 creqyronmx BRICKa3hBAHIA BEPHO?

I. B pycckoM s3bike 063 IITacHoro, c1ora ObITh He MOKET.

2. B pycckoM 3bIKe 083 COTTAacHOrO, crora ObITh He MOKET.

3. B pycckoM m3bike G£3 TBEPLOrO COITACHOTO, CI0Ta OBITH HE MOJKET.
4. B pycckoM s3hIKe Ge3 MAKOTO COrTTACHOTO, CII0ra OBITh HE MOXKET.
Options :

87827083361. 1

87827083362. 2

87827083363. 3

87827083364. 4

Question Number : 56 Question Id : 87827021067 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kakoe 13 cleyrolmX BICKa3bBAHUH BEPHO?

[. B pycckoM s3bike 0e3 IITacHOro, c1ora ObITh He MOXKET.

2. B pycckoM s3bIke Oe3 COITACHOTO, clora ObITh HE MOJKET.

3. B pycckoM q3bIKe 083 TBEPLOrO COITIACHOIO, C7I0Ta OBITH HE MOJKET.
4. B pycckoM s3bIKe Ge3 MAKOTO COrTTACHOTO, CII0ra OBITh He MOXKET.

Options :

87827083361. 1
87827083362. 2
87827083363. 3

87827083364. 4

Question Number : 57 Question Id : 87827021068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

(OTMEThTE MPABHIIBHEI HMOM aHTTIIHCKOr 0 BhICKashiBaHHL, «lt is better to be really
skillful at one trade than to have little knowledge of many.»

. JIKeK — 110 Bce PYKH MACTEp, a HiI OJHITM MACTEPCTBOM HE BajIeeT
2. JIeK — Ha BCe PYKII MacTep, a He OfHHM MACTEPCTBOM He BIIAJIeeT
3. JIxeK — Ha Bce paOOTHI MacTep, a HH OFHHM MACTEPCTBOM He BIAJIeT
4. JIKeK - Ha Bee PYKH MacTep, a Hi OHHM MacTePCTBOM He BIIa/IeeT

Options:

87827083365. 1
87827083366. 2
87827083367.3

87827083368. 4



Question Number : 57 Question Id : 87827021068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

OTMeTBTE IPABHIBHEI HMOM aHTTIIHCKOr O BhICKashIBaHHL, «lt s better to be really
skillful at one trade than to have little knowledge of many.»

. JIKeK — 110 Bce PYKH MACTEp, a HiI OJHITM MACTEPCTBOM HE BajIeeT
2. JIeK — Ha BCe PYKII MacTep, a He OfHHM MACTEPCTBOM He BIIAJIeeT
3. JIxeK — Ha Bce paOOTHI MacTep, a HH OFHHM MACTEPCTBOM He BIAJIeT
4. JIKeK - Ha Bee PYKH MacTep, a Hi OHHM MacTePCTBOM He BIIa/IeeT

Options :

87827083365. 1
87827083366. 2
87827083367. 3

87827083368. 4

Question Number : 58 Question Id : 87827021069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Ha kaxoM YpoBHE aHITIHICKOE cOOCTBEHHOE HMA «Lincolny Iepeaércs Kak
«JIMHKEH)» Ha PYCCKOM f3bIKe?

Ha YPOBHE (DOHEM
Ha YPORHE TpadeM
Ha YPOBHE CTTOBA
Ha YPOBHE MOpdeM

e

Options :
87827083369. 1
87827083370. 2

87827083371. 3



87827083372. 4

Question Number : 58 Question Id : 87827021069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ha xaxoMm yporHe aHITmHiicKoe coOcTBeHHOE MM «Lincolny Mepeaéics Kak
«JIMHKEH)» Ha PYCCKOM S3bIKe?

Ha YPOBHE (DOHEM
Ha YpORHE TpadeM
Ha YPOBHE CTTOBA
Ha YPOBHE MOp(eM

=

Options :

87827083369. 1
87827083370. 2
87827083371.3

87827083372. 4

Question Number : 59 Question Id : 87827021070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(OTMeTBTE TIEPEBOECKYIO 3AMEHY, K KOTOPOH OTHOCHTCS CTIE/YFOLIHI TEEBOT ¢
AHITIHCKOTO Ha PYCCKHIL.

«He showed us this old beat-up Navajc blanket that he and Mrs. Spencer’d bought off
some Indian.»

«OH HaM ITOKa3ai 10T PEIAHHOC HHJIHICKOE OJIESTI0 — OHH € MIHCCHC CHEHCEP KYIIMIIH
0 Y KaKOro-1o HHJIEHIA.»

3aMcHa CIIECTBHA ]'[pH‘]HHOfI

3dMCHa IIPOCTOTO IPEAJIONCHIA CIOKHBIM
3aMeHa ITO/IHHTENBHON CBI3H COUMHHUTENLHON
3dMCHa CIIOKHOI'0 ITPEIOACHIL ITPOCTHIM

Options:

87827083373. 1
87827083374. 2
87827083375.3

87827083376. 4

Question Number : 59 Question Id : 87827021070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(OTMeTBTE TIEPEBOECKYIO 3AMEHY, K KOTOPOH OTHOCHTCS CTIE/YFOLIHI TEEBOT ¢
AHITIHCKOTO Ha PYCCKHIL.

«He showed us this old beat-up Navajc blanket that he and Mrs. Spencer’d bought off
some Indian.»

«OH HaM ITOKa3ai 10T PEIAHHOC HHJIHICKOE OJIESTI0 — OHH € MIHCCHC CHEHCEP KYIIMIIH
0 Y KaKOro-1o HHJIEHIA.»

3aMcHa CIIECTBHA ]'[pH‘]HHOfI

3dMCHa IIPOCTOTO IPEAJIONCHIA CIOKHBIM
3aMeHa ITO/IHHTENBHON CBI3H COUMHHUTENLHON
3dMCHa CIIOKHOI'0 ITPEIOACHIL ITPOCTHIM

Options:

87827083373. 1
87827083374. 2
87827083375.3
87827083376. 4

Question Number : 60 Question Id : 87827021071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[Io MeTozHKe MPETO/aBAHILT KaKHe YIIPAKHEHNA TOMB3YIOTCA YCTEXOM Y VHAIIIXCA,
COBIAROT Ha 3AHATHAX aTMOC(EPY eCTeCTBEHHOr0 AHBOTO OOIEHTA, TIOMOKITEbHBIX
SMOIIHH, YTO TIPH 00YYEHHH A3BIKY 0COOEHHO BaKHO?

|. CHTYaTHBHBIE YIIPaKHEHII

2. YIpaXHEHIA B TIEpefate conepkaHIs
3. TpaHchOPMATHBHEIE VIIPAKHEHNS

4. WTPOBBIE YIPAXHEHIT

Options :
87827083377. 1
87827083378. 2



87827083379. 3
87827083380. 4

Question Number : 60 Question Id : 87827021071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
ITo MCTOHKE ITPCTIOABAHIL KAaKHE YIIDAAHCHIA ITOTB3VIOTCA YCIIEXOM Y VHAIIHXCA,

COBZIAKOT Ha 3AHATHAX aTMOC(EDY ECTECTBEHHOr0 KHBOTO OOIIEHTS, TIOTOKITEIbHBIX
SMOIIHH, YT0 TIPH 00YYEHHH A3BIKY 0COOSHHO BaAKHO?

| CHTYaTHBHBIE YIIPaKHEHILT

2. YIPaXHEHNA B TIEPefiae cofepkaHs
3. TpaHcOPMATHBHBIE YIIPAKHEHHS

4. WTPOBHIE YIPAKHEHILT

Options :

87827083377. 1
87827083378. 2
87827083379. 3

87827083380. 4

Question Number : 61 Question Id : 87827021072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

VipaKHeH, coco0CTBYROIHE (OPMIPOBAHIEO TPOAYKTHBHELX PEUEBHIX YMeHHIl
VYAIIHXCA OTHOCATCA K

|, MeTOJIKE OOYHEHILT TEKCHKE

2. MeTofuKe coo0IIeHNS 3HAHHH

3. MeToiHKe 00YYEHHS PYCCKOMY TIPOM3HOMEHHEO
METOJIHKE 00YYEHIL [PAMMATHKE

__IL



Options :

87827083381. 1
87827083382. 2
87827083383. 3
87827083384. 4

Question Number : 61 Question Id : 87827021072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YipakHeH1s, cioco0CTBYROIHE (OPMIPOBAHIE TPOAYKTHBHEIX PEYEBBIX YMEHHIT
YYAIIUXCA OTHOCATCA K

|. MeTomiKe 00VUEHHA MEKCHKE

2. METOJHKe COOOMIEHIL 3HAHIIH

3. MeToHKE 00VYEHHA PYCCKOMY ITPOH3HOMIEHITO
METOJIKE 0OYYEHHA TPaMMATHKE

__|L

Options:

87827083381. 1
87827083382. 2
87827083383.3
87827083384. 4

Question Number : 62 Question Id : 87827021073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



BcraepTe BMecTO TOUEK Goree MOAXOSIHA BApPHAHT OTBETA!
«IIpH H3y4eHHH HHOCTPAHHOI'O A3BIKA BaXKHO MMETH ... Ha CIIYX.»

CIIOCOOHOCTH BOCTIPHATHS PEYH
CITOCOOHOCTH BOCTIPHSATHS PEUH
CITOCOOHOCTH K BOCTIPUATHIO PEYH
4. crmocoOHOCTH K BOCIIPHSATHIO PeYH

e b =3

Options:

87827083385. 1
87827083386. 2
87827083387.3
87827083388. 4

Question Number : 62 Question Id : 87827021073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

BceraepTe BMecTO TOUEK Goree MOAXOMAIHUI BapHAHT OTBETA!
«IIpn H3y4eHHH HHOCTPAHHOI'O A3BIKA BAXHO MMETH ... Ha CIIYX.)»

CIIOCOOHOCTD BOCTIPHATHS PEYH
CIIOCOOHOCTH BOCTIPUATHS PeYH
CIIOCOOHOCTH K BOCITPHSTHIO PEUH
4, criocoGHOCTH K BOCITPIATHEO PEYH

e =3

Options :

87827083385. 1
87827083386. 2
87827083387.3
87827083388. 4

Question Number : 63 Question Id : 87827021074 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

BcraspTe BMecTo TOUeK Goree IMOAXOMMIMI BaApHAHT OTBETA:
«OH IFOOHT ... B TPAHCIIOPTE ¢ HE3HAKOMBIMH JTFOABMH. »

3arOBaPUBATh
OrOBapHBaTh

HaroBapMBaTh
4. JIOroBapHBaTh

s =

Options :

87827083389. 1
87827083390. 2
87827083391. 3

87827083392. 4

Question Number : 63 Question Id : 87827021074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

BcraBbTe BMECTO TOUeK O0rIee IMOAXOAMAIINI BAPHAHT OTBETA!
«OH IFOOHT ... B TPAHCIIOPTE ¢ HE3HAKOMBIMH JIFOIBMIH. »

3arOBapUBATh
OrOBapHBaTh

HaroBapHBaTh
4. JIOroBapHBaTh

e ol

Options:
87827083389. 1
87827083390. 2

87827083391. 3



87827083392. 4

Question Number : 64 Question Id : 87827021075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMGTBTE, KAKOE CIIOBO ABIACTCA IIOMTICHKAIINM B IIDEATOACHHI: ((KYPHTB 310POBbIO
BPEAUT. )

KYpHUTD
310OBBI

BPCTHT

OTCYTCTBYET MOIEKaIIee

_.[;

Options :

87827083393. 1
87827083394. 2
87827083395. 3

87827083396. 4

Question Number : 64 Question Id : 87827021075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMGTBTE, KdKOE CIIOBO ABILACTCA IIOTICHAIINM B IIDEATOACHHH: ((KYPHTB 310POBbIO
BPEAUT. »

KYPHTD
370POBbI0

BPE/HT

OTCYTCTBYeT MO e kKalee

_.[;

Options :

87827083393. 1



87827083394. 2
87827083395. 3

87827083396. 4

Question Number : 65 Question Id : 87827021076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

CnoBoopMa paHeHOro, B TpepIOkKeHHH (PaHEHOro TpHBE3MI B GOMBHIIIY.),
SRALTCA ...

OMPE/ICTIERHEM
TOJE KA
TIOTONHEHHEM
4, 00CTOATENBCTBOM

Options :

87827083397. 1
87827083398. 2
87827083399. 3

87827083400. 4

Question Number : 65 Question Id : 87827021076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

CnoBoopMa paHeHOro, B TpepIOkKeHHH (PaHEHOro TpHBE3MI B GOMBHIIIY.),
SRALTCA ...

ONpPEICTICHNEM
TIOTEAKAIIINM
JOIOTHEHHEM
00CTOATENBCTBOM

_.[;



Options :

87827083397. 1
87827083398. 2
87827083399. 3
87827083400. 4

Question Number : 66 Question Id : 87827021077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMGTBTE, UCM ABTACTCA BRIACTICHHOC BRIDAKCHHE B ITPETOKCHIH! «K CYaCThIO, C
YTpa IIOr0/ia HaTaIHIach. »

BBOTHEIM CTIOBOM
OMpe/IeEHIEM
CKa3yeMbIM

4, 00CTOATENBCTBOM

Options :

87827083401. 1
87827083402. 2
87827083403. 3
87827083404. 4

Question Number : 66 Question Id : 87827021077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



OTMGTBTE, UCM ABTACTCA BRIACTICHHOC BRIDAKCHHE B ITPETOKCHIH! «K CYaCThIO, C
YTpa IIOr0/ia HaTaIHIach. »

BBOTHEIM CTIOBOM
OMpe/IeEHIEM
CKa3yeMbIM

4, 00CTOATENBCTBOM

Options :

87827083401. 1
87827083402. 2
87827083403. 3

87827083404. 4

Question Number : 67 Question Id : 87827021078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMGTBTEj TEM ABIIACTCA KPATKOE ITPUJIAraTC/IbHOE B ITPEITIOKCHII {(OTPOI‘M-I&H
MOpPCKaAd BOITHA MOI'VHa. ).

COITTaCOBAHHBIM OITPEACICHHEM
JOIOMHEHHEM
00CTOSTENIBCTBOM

HMEHHBIM CKa3yCMbIM

Options :

87827083405. 1
87827083406. 2
87827083407. 3
87827083408. 4

Question Number : 67 Question Id : 87827021078 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMGTBTE? TEM ABIMACTCA KPATKOE ITPUJIAraTC/IbHOE B ITPEITIOKCHHH «Ol“pOMHElH
MOPCKaA BOTTHA MOT'Y4a. ».

COTMaCOBaHHBIM OIIPEACICHHEM
JOITOITHEHHEM
00CTOSTENBCTBOM

HMEHHBIM CKa3yCMbIM

Options :

87827083405. 1
87827083406. 2
87827083407. 3
87827083408. 4

Question Number : 68 Question Id : 87827021079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMETBTE, B KAKOM M3 HIJKEJAHHBIX CIIOBOCOYETAHHI BCTPEYACTCA
00CTOATENECTBEHHOE OTHOIIEHHE.

THIIMHA YTPa

PUCOBATH INETKOM

TIPUT OTOBUTH YPOKU
HaXOIUTBCSA OKOIIO MHCTUTYTA

ol - =y

=

Options :

87827083409. 1
87827083410. 2
87827083411.3

87827083412. 4



Question Number : 68 Question Id : 87827021079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMETBTE, B KAKOM M3 HIJKEJAHHBIX CIIOBOCOYETAHHI BCTPEYACTCA
00CTOATENECTBEHHOE OTHOIIEHHE.

THIIMHA YTPa
PHCOBATh IIETKOI

TIPHT OTORUTH YPOKH
HAXOJUTBCS OKOITO HHCTHTYTa

ol - =y

=

Options :

87827083409. 1
87827083410. 2
87827083411.3
87827083412. 4

Question Number : 69 Question Id : 87827021080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

(OTMETBTE, KaKOi croco0 00pa3oBaHI CTIOB HMEET 00Mee YeM OHY MOTHBHPYEOLIYE)
OCHOBY.

TpeUKcCaInia

cy(rxcaris

CTOMKEHTIE

mpeUKCaTbHO-CY( QHKCATBHBII CrI0c00

_.[;

Options :
87827083413. 1
87827083414. 2

87827083415. 3



87827083416. 4

Question Number : 69 Question Id : 87827021080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMeTBTe, KaKoii c1ioco0 00pa30BaHIA CI0B HMeET O0Mee YeM OTHY MOTHBHPYIOIIYIO
OCHOBY.

TpeUKCaInLa

ey rxcars

CTIOKEHHE
TpeQHKCATBHO-CY(QHKCATBHBIH CTI0C00

_.[;

Options :

87827083413. 1
87827083414. 2
87827083415. 3

87827083416. 4

Question Number : 70 Question Id : 87827021081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
CnoBa «6épery» (cmoBod)opMa OT CYIIECTBHTENBHOTO Hepe?) H «Oepery»
(cmoBo(opMa OT I7Iaromna Hepeys ) SBITHOICS:

l. omorpadamm

2. oMo OHAMH

3. omorpadamu i1 oMO(OHAMI
4. mapoHMMaMH

Options :

87827083417. 1



87827083418. 2
87827083419. 3

87827083420. 4

Question Number : 70 Question Id : 87827021081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
CnoBa «6épery» (cmoBod)opMa OT CYIIECTBHTENBHOTO Hepe?) H «Oepery»

(cmoBo(opMa OT I7Iaromna Hepeys ) SBITHOICS:

l. omorpadamm
2. oMo OHAMH
3. omorpadamu i1 oMO(OHAMI
4. MapoHHMaMU
Options :
87827083417. 1
87827083418, 2
87827083419. 3

87827083420. 4

Question Number : 71 Question Id : 87827021082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

CeHTHMEHTAIH3M KaK JTHTEPATYPHOE HAIIPABICHHE CYIICCTBOBAII B Poccun

1. cxonma 18 Bexa 10 10-bIX rozoB 19 Beka.

2. ¢ xoHia 30-bIX rogoB 10 60-bX rogoB 19 Beka.
3. BHavane 18 Bexa.

4. BKoHIE 17 Beka.

Options:



87827083421. 1
87827083422. 2
87827083423. 3

87827083424. 4

Question Number : 71 Question Id : 87827021082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

CeHTHMEHTAIH3M KaK JTHTEPATYPHOS HAIIPABICHHE CYIICCTBOBAI B Poccun

I. cxomma 18 Beka 10 10-bX roos 19 Beka.
2. ¢ xomma 30-px rogoB 1o 60-51x roroB 19 Beka.
3. BHavane 18 Beka.
4. BKoHIe 17 Bexa.
Options :
87827083421. 1
87827083422. 2
87827083423. 3

87827083424. 4

Question Number : 72 Question Id : 87827021083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[ToBecTBOBaHHE KaK OPI'aHH3VIOIICC HAadJIO XaPaKTCPH3YCT

l. mpamy

2. JHPUKY
3. sI0oc¢

4. NHPO-3ITHKY

Options :



87827083425. 1
87827083426. 2
87827083427. 3

87827083428. 4

Question Number : 72 Question Id : 87827021083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[ToBeCcTBOBAaHHE KaK OPraHH3VIOIIEC HAYAJIO XaPAKTCPH3VCT

ApaMy

TTHPHUKY
BII0C

4, NHPO-3ITHKY

Options :

e e

87827083425. 1
87827083426. 2
87827083427. 3

87827083428. 4

Question Number : 73 Question Id : 87827021084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

O 4éM MTOBECTBYET H3BECTHBIH TAMATHHK APEBHEPYCCKOIM THTEPATYPE! «CIIOBO 0
oMKy Aropesey?

0 KI3HI 1 JeSHIX KH34 Mrops.

0 HeYIa4HOM MOXO0/Ie KHA34 Hrops Ha ITOMOBI(EB.

0 6oprbe Mrops co cBomm GparoM BeeBomogoM 3a 3eMITIL.
0 moxofie Mropd Ha Xasapckoe BOFICKO.

_.[;



Options :

87827083429. 1
87827083430. 2
87827083431.3
87827083432. 4

Question Number : 73 Question Id : 87827021084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

O 4éM TOBECTBYET H3BECTHBIH IAMATHHK APEBHEPYCCKOM IHTEPATyPb! «CIOBO 0
MmonKy Aropesey?

0 JKI3HH H JedHIX KHs3a Uropa.

0 HeYZIaYHOM T0X0/(e KHA34 Frops Ha TOMOBIIEB.

0 0opr0e Mrops co ceoum Oparom BeeBOMOIOM 3a 3eMIH.
0 Toxoze Mropd Ha Xa3apckoe BOHCKO.

_.[h

Options:

87827083429. 1
87827083430. 2
87827083431.3
87827083432. 4

Question Number : 74 Question Id : 87827021085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



BcraBbTe mporymerHoe cloBo B cTpoky crixorBoperid M. Jlepmortosa «Ilapycy.
«bemeer mapyc ofHHOKOH
B Tymare Mops romy6om!
UT0 HMIIET OH B CTPaHE JaNEKoi?
Y10 ... OH B Kparo POHOM?»

MyCTHIT
KIHYI

0CTABI
OpOCHIT

_.lh

Options:

87827083433. 1
87827083434. 2
87827083435. 3

87827083436. 4

Question Number : 74 Question Id : 87827021085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



BcraBbTe mporymerHoe cloBo B cTpoky crixorBoperid M. Jlepmortosa «Ilapycy.
«bemeer mapyc ofHHOKOH
B Tymare Mops romy6om!
UT0 HMIIET OH B CTPaHE JaNEKoi?
Y10 ... OH B Kparo POHOM?»

[, mycrum
2. KiHyl

3. 0CTaBII
4, Gpocu

Options:

87827083433. 1
87827083434. 2
87827083435. 3
87827083436. 4

Question Number : 75 Question Id : 87827021086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

B pomane «['epoii HIIEro BpeMeHID) ¢ TOUKH 3PeHHA XPOHOMOTHYECKOTO MOpI/IKa
Kakad 4acTh JOMAHA OBITh B Hayame?

«T aMaHDB)
«baman
«Krsana Mepmy
4. «DaramicTy

Options :
87827083437. 1
87827083438. 2

87827083439. 3



87827083440. 4

Question Number : 75 Question Id : 87827021086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

B pomane «['epoii HaImero BpeMeHID) ¢ TOUKH 3PeHHA XPOHOMOTHYECKOTO MOpS/IKa
Kakasg yacTh JOIkKHA OBITh B Hayane?

«T aMaHb)
«bamay
«Krsxra Mepmy
4. «QaramicTy

Options :

87827083437. 1
87827083438. 2
87827083439. 3

87827083440. 4

Question Number : 76 Question Id : 87827021087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kax gorro A. Banmvauxrm (13 moBectu I'oromns «[1IHHEb)) HOCHTT CBOK HOBYIO
IIHHEND

OJIHY He/IeITk
OJIMH TO]]

OJIMH MeCSI]
OJIMH JIeHB

_.[;

Options :

87827083441. 1



87827083442. 2
87827083443. 3

87827083444. 4

Question Number : 76 Question Id : 87827021087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kax gorro A. Banmvauxim (13 moBectu I'oromns «[1IHHEb») HOCHIT CBOK HOBYIO
IIHHEND?

OJIHY He/IeITk0
OJIMH TOX

OJIMH MECAI]
OJIHH JI€Hb

_.[;

Options :

87827083441. 1
87827083442, 2
87827083443.3
87827083444. 4

Question Number : 77 Question Id : 87827021088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Poib nmoBecTBOBaTENSA OOBIYHO OTCYTCBYCT ... .

B paccKase
B POMaHe
B JIpaMe

4. B IIOBECTH

i id) (=3

Options:



87827083445. 1
87827083446. 2
87827083447. 3

87827083448. 4

Question Number : 77 Question Id : 87827021088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Poip nmorecTBOBaTENA OOBIYHO OTCYTCBYCT ... .

B pacckase
B POMaHe
B JIpaMe

4. BIIOBECTH

i =

Options :

87827083445. 1
87827083446. 2
87827083447. 3

87827083448. 4

Question Number : 78 Question Id : 87827021089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Kaxoe IIPOM3BEICHHE JI. ToneToro HaunHaeTcd cloBaMit «Bee CUacTIHBLIE CeMbH
TIOXOAH IPYT Ha APYTa, Ka&KIdAd HECYACTIIHBAA CEMbA HECHACTITHBA 110 CBOEM}T}}?

«Cmeprp MBana Uibryay
«Bockpecerne

«Kumoit Tpymy

«AnHa Kapernnay

_.[;



Options :

87827083449. 1
87827083450. 2
87827083451.3
87827083452. 4

Question Number : 78 Question Id : 87827021089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kakoe ITPOM3BEICHHC JI. Tomeroro HawmHaeTcs cIoBaMH: «Bce cYacTIHBhIE CEMbI
ITOXOKH JAPYT Ha IpyIa, Ka&KIdA HECHACTIIHBAA CEMbA HECHACTIIHEBA II0 CBOEMY)}?

«Cmeprp Mpana Umbryay
«BockpeceHme)

«KHBOH TPy

«AnHa KapemnHay

__Ih

Options:

87827083449. 1
87827083450. 2
87827083451.3
87827083452. 4

Question Number : 79 Question Id : 87827021090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



B mbece «I'po3ay Kakoe cOOHITHE SBIAETCA KYIbMHHAIMOHHEM MOMEHTOM?

1. Ilepsoe ceranue KarepuHe! ¢ bopicom.
2. M3meHa Kareprmer
3. Camoy0uiicTBo KarepiHsl
4. Tlpmsnanue KarepuHe! Myxy 1 KaGaHHXe 0 CBOEM IpeXe.
Options:
87827083453. 1
87827083454. 2
87827083455. 3

87827083456. 4

Question Number : 79 Question Id : 87827021090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

B mbece «I'po3ay Kakoe COOITHE BIAETCA KYTbMHHAIIMOHHEM MOMEHTOM?

1. Ilepsoe cermanue KatepuHe! ¢ bopicom.
2. M3mena KarepHHEL
3. Camoy0uiicTBo KareprHsl
4. Tlpusnanue Karepursl Myxy 1 KabaHuxe 0 CBOEM I'eXe.
Options :
87827083453 1
87827083454, 2
87827083455. 3

87827083456. 4

Question Number : 80 Question Id : 87827021091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hccnemosaremi TBopuectBa A. UexoBa U THIEPaTYPHBIE KPHTUKH OTHOCAT
« BIIMHEBBIN cajy K KaHpy ... .

l. «Tparenus»

2. «KOMEIHT»

;) «JI[paMd»

4. «TPArHKOMELHI»
Options :
87827083457. 1
87827083458. 2
87827083459. 3

87827083460. 4

Question Number : 80 Question Id : 87827021091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Hccnemosaremt 1BopuectBa A. UexoBa U THIEPATYPHEIE KPHTHUKH OTHOCAT
« BIIMHEBHIH cay K KaHpy ... .

l. «Tparequa»

2. «KOMEIHT»

3 «paMa»

4. «TparMKOME[II»
Options :
87827083457. 1
87827083458. 2
87827083459. 3
87827083460. 4

Question Number : 81 Question Id : 87827021092 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TemaTHKa XYIA0KCCTBCHHOI'O ITPOH3BCACHHA o0o3HaYaer ... .

TTIaBHYIO TeMY TIPOH3BeIeHHA

COBOKYITHOCTE BCEX TeM ITPOH3BEIEeHHSA
BTOPOCTEIIEHHbIE TeMEI ITPOH3BEICHI S

4. TIIAaBHYIO TeMY H ITIaBHYIO IIPOOIeMY ITPOH3BEIeHHU

I =4

Options :

87827083461. 1
87827083462. 2
87827083463. 3

87827083464. 4

Question Number : 81 Question Id : 87827021092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TemaTHKa XYI0KCCTBCHHOI'O ITPOH3BCACHHA 0o003HAYaeT ... .

ITIaBHYIO TEMY IIPOH3BEIEHUS

COBOKYITHOCTE BCEX TEM ITPON3BEIEHHS
BTOPOCTEIIEHHbIE TEMEI ITPOH3BEIEHU S

4. TIaBHYIO TEMY H ITIaBHYIO IIPOOIEMY ITPOH3BEICHHUS

e o

Options :

87827083461. 1
87827083462. 2
87827083463. 3

87827083464. 4

Question Number : 82 Question Id : 87827021093 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[To xaxomy Ormery xuna Corsa Mapmenanosa B poMaHe «IIpecTyIuieHue 1
HaKasaHue)?

110 OeTIoMy
T10 YEPHOMY
I10 KENTOMY
110 KPAaCHOMY

D —

Options :

87827083465. 1
87827083466. 2
87827083467. 3
87827083468. 4

Question Number : 82 Question Id : 87827021093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[To xaxomy Omnery xmna Cond MapMenazopa B poMane «IIpecTyImieHne 1
HaKa3aHHE)?

110 OeToMy
TI0 YEPHOMY
TI0 KEMTOMY
T10 KPacHOMY

Options :

87827083465. 1
87827083466. 2
87827083467. 3

87827083468. 4



Question Number : 83 Question Id : 87827021094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Wran CyxoB B moBecTH «OuH feHb MBana JIeHncoBryay A. COMKeHHI[bHA
SRIIIETCS ... .

ABAJLdTHIICTHHM KPECTBAHHHOM
TPHAATHIIETHHM KPECThAHHHOM
COPOKOJIIETHHM KPECThAHHHOM
IATHASCATHICTHAM KPECTh AHHHOM

i

Options :

87827083469. 1
87827083470. 2
87827083471.3

87827083472. 4

Question Number : 83 Question Id : 87827021094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Wran CyxoB B mosecTH «OuH feHb MBana JIeHncoBryay A. COMKeHHI[bHA
SRILETCS ... .

ABAJATHIIETHHM KPECTBAHHHOM
TPHAATHIICTHHM KPECThAHHHOM
COPOKOJIIETHHM KPECThAHHHOM
IATHACCATHIICTHHM KPECTh AHHHOM

i

Options :

87827083469. 1
87827083470. 2
87827083471.3



87827083472. 4

Question Number : 84 Question Id : 87827021095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

«Houemnexxay - 310 IIEPBOHAYAJIbHOC Ha3BAHHE ... .

mbeckl «Ha gHe»

IbeChl «Kitorm

pacckasza « MuKpockor

4. TIOBECTH «BbembIi mapoxomy

S

Options :

87827083473. 1
87827083474. 2
87827083475. 3

87827083476. 4

Question Number : 84 Question Id : 87827021095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

«Houemnexxa» - 310 IIEPBOHAYAJIbHOC Ha3BaHHE ... .

1. mmecel «Ha gHey

2. 1mbechl «Kirorm

3. pacckasza « MHKPOCKOIT»

4. TIOBeCTH «bembIi Imapoxom
Options :

87827083473. 1

87827083474. 2

87827083475. 3



87827083476. 4

Question Number : 85 Question Id : 87827021096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

KTo gBISIETCS POIOHAYATIBHUKOM COBETCKOH KOCMHYECKOH TPOrpaMMbL?

[. Hcaax Jlepuran
2. Jle Jlanmay

3. Hrops Kypuaros
4. Cepren Koponés
Options:
87827083477. 1
87827083478. 2
87827083479. 3

87827083480. 4

Question Number : 85 Question Id : 87827021096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

K10 gBIIeTCH POIOHAYATIBHHKOM COBETCKOH KOCMHYECKOH ITPOrpaMMbL?

|. Hcaax Jlepuran
2. Jle Jlanmay

3. Hrops Kypuaros
4. Cepreit Koponés
Options :
87827083477. 1
87827083478. 2

87827083479. 3



87827083480. 4

Question Number : 86 Question Id : 87827021097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
«Haio moHATE, YTO TBOPUECTBO HEOOXOMMO YETOBEKY, - 063 Hero He Oy/eT Xnela.

[IpencraBnere, 4o cHayama X710, a I0TOM TBOPYECTBO, OJIH 13
PACITPOCTPAHEHHEIX OMMOOK. )

K10 BEICKa3a TaKHE croBa’

[. B. [xmoBckmuii
2. M. baxtin
3. 10. Jlorman
4. B.HaGoxos

Options :

87827083481. 1
87827083482. 2
87827083483. 3

87827083484. 4

Question Number : 86 Question Id : 87827021097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



«Haio moHATE, YT0 TBOPUECTBO HEOOXOMMO YETOBEKY, - 663 Hero He Oyzer Xneba.
[IpezicTaBneHe, 4T0 CHayana X1ed, a I0TOM TBOPYECTBO, OIHH H3
PACTIPOCTPAHEHHEIX OIMOOK.»

KT0 BRICKA3aI TaKHe c1oBa’

[. B. IxmoBckuil
2. M. baxTin
3. 10. Jlorman
4. B. HaGoxos

Options:

87827083481. 1
87827083482. 2
87827083483.3

87827083484. 4

Question Number : 87 Question Id : 87827021098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

K xaxoii BoitHe orHOCcHTCA [Iprka3 Ne227 («Hu mary Hazazg!»)?

OTeuecTBEHHON BOMHE
[IepBOH MHPOBOH BOHHE
BTOpoit MHPOBO# BOIHE

4. PoCCHIICKO-YKPaHHCKOHN BOiHE

e el

Options :

87827083485. 1
87827083486. 2
87827083487.3
87827083488. 4

Question Number : 87 Question Id : 87827021098 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

K xaxoii BoitHe orHOCcHTCA [Iprka3 Ne227 («Hu mary Hazazg!»)?

OTeueCTBEHHON BOMHE
[IepBO MHPOBOH BOHHE
BTOpoii MHPOBOH BOIHE

4. PocCCHIICKO-YKPAMHCKOIN BOiHE

e ol

Options :

87827083485. 1
87827083486. 2
87827083487. 3

87827083488. 4

Question Number : 88 Question Id : 87827021099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Kaxoe mponsseeHne B. MaskoBCKIT Ha3Bal «KaTeXH3HCOM CETOIHAIIHETO
HCKYCCTBA)?

1. «Ham maprmy

2. «Mucrepusg-Gydd»
3. «O0bmaxo B mITaHax»
«Bo Beck romocy

i

Options :

87827083489. 1
87827083490. 2
87827083491.3
87827083492. 4



Question Number : 88 Question Id : 87827021099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kaxoe mponsseerne B. MaskoBCKI Ha3Bal «KaTeXH3HCOM CETOIHAIIHETO
HCKYCCTBA)?

1. «Ham maprmy

2. «Mucrepusg-Gydd»
3. «O0bmaxo B mITaHax»
«Bo Beck romocy

i

Options:

87827083489. 1
87827083490. 2
87827083491.3
87827083492. 4

Question Number : 89 Question Id : 87827021100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Kto0 13 cnemyronmx aBTopop Hasean O. MaHAenbIITaMa «1ocIeIHHM
ObrrormcareneM IlerepOypran?

1. b. ITactepHak
2. M. IIperacpa
3. A. AxmaroBa
4. C.EceHnH

Options:

87827083493. 1
87827083494. 2
87827083495. 3
87827083496. 4



Question Number : 89 Question Id : 87827021100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

K10 13 cneyronmux aBTopoB Hasgan O. MaH/enbITaMa «mocie HIM
ObrTormcareneM [lerepGypran?

1. b. [TacrepHax
2. M. IIperaepra

3. A. Axmaropa
4, C.Ecexun

Options :

87827083493. 1
87827083494. 2
87827083495. 3

87827083496. 4

Question Number : 90 Question Id : 87827021101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kak HaspBaeTca nepBeii cOOpHHK pacckazoB B. ITykimiHa?

. «Xapakrephi»

2. «CeIbCKHUE KUTEINY

3. «TaMm Bmamuy»

4. «becemsl IpH ICHOH IIYHEN
Options :
87827083497. 1
87827083498. 2

87827083499. 3



87827083500. 4

Question Number : 90 Question Id : 87827021101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kak Ha3pBaeTcs nepBrlii cOOpHHK pacckazoB B. IlykimiHa?

«XapakTeprl»

«CemnbCKUE KUTEHY
«Tam BIaTH»

4. «becensl IIpH SICHOH IIyHE)

el o

Options :

87827083497. 1
87827083498. 2
87827083499. 3

87827083500. 4

Question Number : 91 Question Id : 87827021102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kto m CIIEAVIOMIX «TIOHMMAIT COBPEMCHHOCTh KaK BPEMA, KOIZla OCHOBHBIC
MOPAJTbHBIC I XYI0KCCTBEHHBIC IEHHOCTH MOTCPATIN IPEXHES 3HAUCHHE, I TIO3TOMY
HCKYCCTBO HYAKHO CTPOHTD Ha HOBBIX ITPHHI[HIIAX, HCKATh HOBBIC ]'[}'TH}}?

[. CeHTHMEHTATHCTH

2. Peamicthl

3. MozepHuicter

4, PoMaHTHEIH
Options :

87827083501. 1



87827083502. 2
87827083503. 3

87827083504. 4

Question Number : 91 Question Id : 87827021102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Kto m CIEAVIONMX «(TIOHHMaIlM COBPEMCHHOCTL KaK BPEMA, KOIZla OCHOBHBIC

MOPAJTbHBIC I XYI0KCCTBEHHBIC IEHHOCTH MOTCPATIN IPEXHES 3HAUCHHE, I TIO3TOMY
HCKYCCTBO HYAKHO CTPOHTD Ha HOBBIX ITPHHI[HIIAX, HCKATh HOBBIC ]'[}'TH}}?

[. CeHTHMEHTATHCTH
2. Peamicthl

3. MozepHuicter

4, PoMaHTHEIH

Options :

87827083501. 1
87827083502. 2
87827083503. 3
87827083504. 4

Question Number : 92 Question Id : 87827021103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(MHHIMATHOI eJHHITIEIH 719 TIOSBTEHIS HORBIX CMBICTIOB SBILOTCS TPH TIPOSBNCHILS:
A1, Ipyroit YeToBEK H CEMHOTIYeCKas Cpesia BOKPYT Hac (HewTo Bpote T pormpsi! )

KT0 BRICKA3a7 Taxwe copa’

|, B. IlIxmoBcxmuit
2. M. baxmim
3. 10. Jlotvan
4, B.Haboxos

Options :

87827083505. 1
87827083506. 2
87827083507. 3

87827083508. 4

Question Number : 92 Question Id : 87827021103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

(MHHIMATHOI eJHHITIEIH 719 TIOSBTEHIS HORBIX CMBICTIOB SBILOTCS TPH TIPOSBNCHILS:
A, Ipyroit YeTOBEK H CEMHOTHYECKAS CPefia BOKPYT Hac (HeuTo Bpoe Tpormpsi! )

KT0 BRICKa3an Taue cosa’

I. B. IlIxmoBcxui
2. M. baxmim
3. 10. Jlotvan
4, B. Habokos

Options :

87827083505. 1
87827083506. 2
87827083507. 3

87827083508. 4



Question Number : 93 Question Id : 87827021104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTM@TBTE, KaKHE N3 HHKCTdHHbIX ABJITIOTCA OTPHI[ATCIPHBIMU MCCTOHMCHHAMIL

A. HEKTO
B. Hukro
C. Hekoro
D. kro-T0

A.D only
B, C only
A, B, C only
A, C,D only

Options :

i o

_.lh

87827083509. 1
87827083510. 2
87827083511. 3

87827083512. 4

Question Number : 93 Question Id : 87827021104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



OTI\IBTBTIEp KaKHE 13 HKCTaHHbIX ABJLAHOTCA OTPHI[ATEIPHRIMIH MECTOHMCHHAMIL

A. Hekto
B. HIKTO
C. Hekoro
D. kro-t0

I. ADonly

2. B, Conly

3. A,B,Conly

4. A,C,D only
Options:
87827083500. 1
87827083510. 2
87827083511. 3

87827083512. 4

Question Number : 94 Question Id : 87827021105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMETBTE, B KaKHX H3 HIZKC JaHHBIX CJIOB IIPOHCXOJHT «O3BOHYCHHC).

A. mpocs6a
B. momornba
C. momka

D. roroBere

. A,Bonly
2. A Conly

3. A, B, Conly
4. B,C,D only

Options :



87827083513. 1
87827083514. 2
87827083515. 3

87827083516. 4

Question Number : 94 Question Id : 87827021105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMETBTE, B KaKHX H3 HHJKC JTdHHBIX CIIOB ITPOHCXOJHT KO3BOHYCHHCH.

A. mpockba
B. Momnors0a
C. nomka

D. rotoBere

1. A, Bonly
2. A Conly

3. A B,Conly
4. B,C,D only

Options :

87827083513. 1
87827083514. 2
87827083515. 3

87827083516. 4

Question Number : 95 Question Id : 87827021106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



OTM@TBTE, KaKHE H3 AACTaHHBIX ABJLAOTCA OTHOCHTEIIBHBIMI ITPHITAraTC/IbHRIMH.

A. OCEHHIH

B. MemBexnd

C. pOTHTETbCKIH
D. cecrpun

[. A Bonly
2. A Conly
3. A B,Conly
4. B,C,Donly

Options:

87827083517. 1
87827083518. 2
87827083519. 3
87827083520. 4

Question Number : 95 Question Id : 87827021106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMETBTE, KaKHe I3 HHKCTAHHBIX ABJLTOTCA OTHOCHTCIIbHBIMH TTPHITAraTCIIbHRIMH.

A. OCEHHHI

B. Mempekna

C. DOIUTENBCKHH
D. cecrpun

[. A Bonly
2. A Conly
3. A B,Conly
4. B,C,Donly

Options :



87827083517. 1
87827083518. 2
87827083519. 3

87827083520. 4

Question Number : 96 Question Id : 87827021107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMETBTE, KaKHE H3 HIKCAAHHbIX ABJIIIOTCA HaPCHITAMI IICITH.

A. YMEIIIIIEHHO
B. HersHauyaii
C. uzmanu
D. uHorma

1. A, Bonly

2. C,Donly

3. A B,Conly

4, A,B,Donly

Options :

87827083521. 1
87827083522. 2
87827083523. 3

87827083524. 4

Question Number : 96 Question Id : 87827021107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



OTMETBTE, KaKHE H3 HIKCAaHHBIX ABJLAIOTCA HaPCHITAMI IICITH.

A. YMBIIIIEHHO
B. HersHayaii
C. u3mamu
D. uHorga

1. A, Bonly

2. C,Donly

3. A B,Conly

4. A,B,Donly

Options:

87827083521. 1
87827083522. 2
87827083523.3

87827083524. 4

Question Number : 97 Question Id : 87827021108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMETBTE, B KaKIHX 13 HIDKeJIaHHBIX CTOBOCOYETAHHI BCTPCHACTCA YIIPABIICHIC.

A. BECTH KCTIEPHMEHT
B. mpucrymus  padore
C. ymHee cofaKu

D. xemaHie yYnThCs

[. A, Bonly
2. C,Donly
3. A B,Conly
4. A,B,Donly

Options :



87827083525. 1
87827083526. 2
87827083527. 3

87827083528. 4

Question Number : 97 Question Id : 87827021108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMBTBTE, B KAKIHX U3 HIDKeJaHHBIX CTOBOCOYETAHHI BCTPEYACTCA YIIPABJICHHE.

A. BECTH 3KCTIEPHMEHT
B. mpucTymuTs K pabore
C. ymHee cobaku

D. xemaHie y4nThCa

[. A, Bonly
2. C,Donly
3. A B,Conly
4. A,B,Donly

Options :

87827083525. 1
87827083526. 2
87827083527. 3

87827083528. 4

Question Number : 98 Question Id : 87827021109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



OTMeTbTe, Kakiie H3 HILKEIAHHBIX CTIOB 00Pa3YIOTCA ¢ TOMOIIBI0 CY(AHKCATHHOrO
croco0a.

A. 3mMoil
B. xopormo
C. CTOmIK
D. corHg

I. A, Bonly
2. A, Conly
3. B, Donly
4, A/B,C,D
Options:
87827083529. 1
87827083530. 2
87827083531. 3
87827083532. 4

Question Number : 98 Question Id : 87827021109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



OTMeTbTe, Kakiie H3 HILKEIAHHBIX CTIOB 00Pa3YIOTCA ¢ TOMOIIBI0 CY(AHKCATHHOrO
croco0a.

A. 3mMoil
B. xopormo
C. CTOmIK
D. corHg

I. A, Bonly
2. A, Conly
3. B, Donly
4, A/B,C,D
Options:
87827083529. 1
87827083530. 2
87827083531. 3
87827083532. 4

Question Number : 99 Question Id : 87827021110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



OTMeTbT¢, KaKie I3 HIDKeaHHBIX CTIOB 06Pa3yioTes ¢ IOMOMIBEO TIPHCTABOYHO-
cy(uxcambHoro crocoda.

A. TIOCHOBOMY

B. momcnyxutsed
C. MOJOKOHHIIK
D. BrICTIaTBCA

I. A, Bonly
2. A, Conly
3. B,Donly
4. C,Donly

Options :

87827083533. 1
87827083534. 2
87827083535. 3

87827083536. 4

Question Number : 99 Question Id : 87827021110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



OTMeTbT¢, KaKie I3 HIDKeaHHBIX CTIOB 06Pa3yioTes ¢ IOMOMIBEO TIPHCTABOYHO-
cy(uxcambHoro crocoda.

A. TIOCHOBOMY

B. momcnyxutsed
C. MOJOKOHHIIK
D. BrICTIaTBCA

I. A, Bonly
2. A, Conly
3. B,Donly
4. C,Donly

Options :

87827083533. 1
87827083534. 2
87827083535. 3

87827083536. 4

Question Number : 100 Question Id : 87827021111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

OTI\I(‘JTBT(‘Bj KaKHE H3 HIDKCJAHHbIX CTI0B ABTIAIOT CA CYIIECTBHTEIbHRIMU 06L[[€T0 PoJa.

A. TymKa
B. Oepera
C. pebdra
D. OemHsra

[. A, Bonly
2. A, Conly
3. B,Donly
4, A,D only



Options :

87827083537. 1
87827083538. 2
87827083539. 3
87827083540. 4

Question Number : 100 Question Id : 87827021111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMETBTG, KaKHE H3 HIDKCIAHHBIX CTI0B ABTIAIOT CA CYIICCTBHTCIbHRIMI 06L[[€T0 PoJa.

A. TymsKa
B. Oepera
C. pelara
D. Genmsra

[. A, Bonly
2. A, Conly
3. B, Donly
4, A,Donly

Options:

87827083537. 1
87827083538. 2
87827083539. 3
87827083540. 4

Question Number : 101 Question Id : 87827021112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



OTMeTbT¢, Kake 03 HIKeJaHHBIX (DOPM CPABHHTETbHOH CTETEeHH 00pa3yroTCs ¢
TOMOIIBHO CYIITITETHBHOTO METOJ.

A. Xyxe

B. myume
C. rmy0xe

D. xpaue

[. A Bonly
2. A, Conly
3. B,Donly
4. A,Donly

Options:

87827083541. 1
87827083542. 2
87827083543. 3

87827083544. 4

Question Number : 101 Question Id : 87827021112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



OTMeTbT¢, Kake 03 HIKeJaHHBIX (DOPM CPABHHTETbHOH CTETEeHH 00pa3yroTCs ¢
TOMOIIBHO CYIITITETHBHOTO METOJ.

A. Xyxe

B. myume
C. rmy0xe

D. xpaue

[. A Bonly
2. A, Conly
3. B,Donly
4. A,Donly

Options:

87827083541. 1
87827083542. 2
87827083543. 3

87827083544. 4

Question Number : 102 Question Id : 87827021113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMETBTE, KaKHC H3 HIKCIAHHBIX CIIOB ABIIIIOTCA apXaH3MaMI.

A. 4ero
B. mmmmr

C. muxGe3s
D. Oospun
[. A, Bonly
2. A, Conly
3. B,Donly
4. A,Donly



Options :

87827083545. 1
87827083546. 2
87827083547.3

87827083548. 4

Question Number : 102 Question Id : 87827021113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMETBTE, KaKHE H3 HITKCIAHHBIX CIIOB ABIIAROTCA apXadli3MaMH.

A. 4ero
B. mmmmr
C. mux6es
D. GogpuH

[. A, Bonly
2. A, Conly
3. B,Donly
4. A,Donly

Options:

87827083545. 1
87827083546. 2
87827083547.3

87827083548. 4

Question Number : 103 Question Id : 87827021114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



OTMETBTG, KaKHE U3 AKCIaHHBIX ABILAIOTCA BIOPOCTCIICHHBIMI WICHAMI TIPEATOACHHA.

A. ompezieneH e
B. ckasyemoe

C. JOMONHeHE
D. oGcrofreseTBo

[. A Bonly
2. A Conly
3. B,C, Donly
4. A,C,Donly

Options:

87827083549. 1
87827083550. 2
87827083551. 3

87827083552. 4

Question Number : 103 Question Id : 87827021114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OTMETBTG, KaKHC 13 HHKCTAHHBIX ABILAOTCA BTOPOCTCIICHHBIMU WICHAMI TIPEITOKCHHA

A. ompezeneHye
B. ckasyemoe

C. JOMONHEHIE
D. olcTodrenseIso

[. A Bonly
2. A Conly
3. B,C, Donly
4. A,C,Donly

Options :



87827083549. 1
87827083550. 2
87827083551. 3

87827083552. 4

Question Number : 104 Question Id : 87827021115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

OTM@TBTE, KdKHE H3 HHKCTaHHBIX BBI})&)I(EPM ABITAIOTCA d)p&BGOHOTH‘IECI{HMfI
CAHHCTBAMII.

A. TIyCKaTh IIBIT B I7Ia3a
B. IBITE IO TEYeHHEO
C. mexarb Ha IeuH

D. Genad BopoHa

[. A, Bonly
2. A, Conly
3. B,C,Donly
4, A,B,Donly

Options :

87827083553. 1
87827083554 2
87827083555. 3

87827083556. 4

Question Number : 104 Question Id : 87827021115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



OTI\IETI»TEj KaKHE H3 HHKCTaHHbIX BBIp&}I{EI-H{ﬁ ABIAOTCA QJpaBGOHOTHHECKHMH
CIHHCTBAMH.

A. TIycKatb IThIT B I7Ia3a
B. IITBITE IO TEYEHHEO
C. Iexarh Ha IeuH

D. Genad BopoHa

[. A, Bonly
2. A,Conly
3. B,C,Donly
4. A, B,Donly

Options:

87827083553. 1
87827083554. 2
87827083555. 3
87827083556. 4

Question Number : 105 Question Id : 87827021116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kakue u3 CIICAYIOIIHMX ITIar0JIOB YIIPABJIAOT BHHHT CIIBHBIM TageKoM?

A. CTOHTB
B. coBeToBaTh
C. BepHIb
D. Becurb

1. A, Conly
2. B,Donly
3. A,Donly
4. A, B, Conly



Options :

87827083557. 1
87827083558. 2
87827083559. 3
87827083560. 4

Question Number : 105 Question Id : 87827021116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kakue u3 CIIEAYIOIIHX I'TTaroJIOB YIIPABJIAIOT BHHHTCIIbHBIM Ha;[emom?

A. CTOHTB
B. coBeroBaTh
C. BepHIb
D. Becurs

1. A, Conly
2. B,Donly
3. A,Donly
4. A, B, Conly

Options:

87827083557. 1
87827083558. 2
87827083559. 3
87827083560. 4

Question Number : 106 Question Id : 87827021117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Kakate 13 cie/fytomIX COTTACHBIX BNKOTCA addprKaTaMH IO croco0y 00pa3oBanis’

A. (]
B. [n]
C. (1]
D. [4]

[. A Bonly
2. A,Donly
3. B, Conly
4, B, D only

Options:

87827083561. 1
87827083562. 2
87827083563. 3

87827083564. 4

Question Number : 106 Question Id : 87827021117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kakute 13 e IyOMIX COTTACHBIX BNAOTCA addpIKaTAMH TT0 CTIOCO0Y 00pa3oBaHKs’

A. (1]
B. (1]
C. (1]
D. [4]

[. A Bonly
2. A,Donly
3. B, Conly
4, B, D only

Options :



87827083561. 1
87827083562. 2
87827083563. 3

87827083564. 4

Question Number : 107 Question Id : 87827021118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kakue m3 CICAVIOIMHX COITTaCHBIX ABIIAOTCA 3dJHCA3BIMHBIMU I10 MECTY OﬁpﬂBOBﬂHHFI?

A. [1]
B. [H]
C. [K]
D. [x]

A, B, Conly
A, C, D only
B, C, D only
AB,C,D

el D —

_.[;.

Options :

87827083565. 1
87827083566. 2
87827083567. 3
87827083568. 4

Question Number : 107 Question Id : 87827021118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Kaxae m3 CICAVIOLMX COITTaCHBIX ABIIAOTCA 3a{HCA3BIMHBIMI IT0 MECTY OﬁpﬂBOBaHHFI?

A. [1]
B. [t
C. [x]
D. [x]

A, B, C only
A, C, D only
B, C, D only
AB,C,D

Options :

87827083565. 1
87827083566. 2
87827083567. 3

87827083568. 4

Question Number : 108 Question Id : 87827021119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kaxate 13 crieyromuX rmicateneii SBIsEoTCA MPeJCTABHTELIMIL COLMAMHCTHYECKOr0
pearmi3ma’

A. M. lomoxos
B. H. Ocrpocki
C. A Tomcron

D. M. 3omenko

I. A,Bonly
2. A Conly
3. C,D only
4, A, B, Conly



Options :

87827083569. 1
87827083570. 2
87827083571.3
87827083572. 4

Question Number : 108 Question Id : 87827021119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Kaxate 13 crieyromux ricateneii SBISEoTCS MPEJCTABHTELIMI COMAHCTHYECKOTO
pearmisma’

A. M. Ilomoxos
B. H. Octposckmii
C. A Tomcroii
D. M. 3omenko

I. A Bonly
2. A, Conly
3. C,D only
4, A, B, Conly

Options:

87827083569. 1
87827083570. 2
87827083571.3

87827083572. 4

Question Number : 109 Question Id : 87827021120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Kaxate 13 CIIEIYIOMNX IcaTeNell ABILTOTCS IIPEACTABHTCITAMI ,I[GpﬁBGHCKOﬁ ]'[pOBbI?

C. B. Pacryrun
D. Y. Alitmatos

[. A, Bonly
2. A Conly
3. C,Donly
4, A, B, Conly

Options:

87827083573. 1
87827083574. 2
87827083575. 3
87827083576. 4

Question Number : 109 Question Id : 87827021120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kakate 13 cnegyromux rmicareneii ABI0TCA PEACTABHTEAMIL JEPEBEHCKOI TPO3HI?

A. B. [lykumx
B. Y. bymm

C. B. Pacryrun
D. 1. Asitmaros

[. A, Bonly
2. A Conly
3. C,Donly
4, A, B, Conly

Options :



87827083573. 1
87827083574. 2
87827083575. 3

87827083576. 4

Question Number : 110 Question Id : 87827021121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kakue mpomssenernd A. YexoBa BOCIIPHHIMAIIHCH COBPEMEHHHKAMH KaK
CHMBOTIIYECKOE 0000IIEHHE PYCCKON JEHCTBHTEIEHOCTH?

« BHIHEBBLIH caf»
«Tockay

«CIaTh X0oueTCcay
«[Tamara NoO»

o 0w

[. A, Bonly
2. A, B,Conly
3. B,C,Donly
4, A,D only

Options :

87827083577. 1
87827083578. 2
87827083579. 3

87827083580. 4

Question Number : 110 Question Id : 87827021121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Kaxate mpomseeeHid A. YeXoBa BOCIPHHUMATICH COBPEMEHHHKAMH KaK
CHMBOMIYECKOE 0000IIEHNE PYCCKOM IEHCTBHTEIBHOCTH?

A. «BHIMHEBHIH camy
B. «Tocka»

C. «Crarb Xo4ercsan»
D. «lIamara No6»

[. A Bonly
2. A, B,Conly
3. B,C, Donly
4. A,D only

Options:

87827083577. 1
87827083578. 2
87827083579. 3
87827083580. 4

Question Number : 111 Question Id : 87827021122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kakrie H3 clIeayroIiX KaHPOB OTHOCATCA K (DOIBKIIOPY?

TIECHA
CKa3Ka
PacCKas

3al'aJJK4d

onwp

A, B only
B, D only
A, B, D only
A,B.C,D

i S A



Options :

87827083581. 1
87827083582. 2
87827083583. 3
87827083584. 4

Question Number : 111 Question Id : 87827021122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kak¥ie u3 cleayroIiX JKaHPOB OTHOCATCA K (DOIBKIIOPY?

A. TiecHH

B. ckaska

C. pacckas

D. 3arajka

1. A, B only

2. B, Donly

3. A,B,Donly

4, A,B,C,D
Options:

87827083581. 1
87827083582. 2
87827083583. 3

87827083584. 4

Question Number : 112 Question Id : 87827021123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Kaxue u3 cneyronmx MoHATHH OTHOCATCA K IIEMEHTaM CHoKeTa?

A. 3aBssKa

B. Pa3spsska

C. KympmuHarmsd
D. Wusepcua

1. A, Bonly
2. A, B,Conly
3. C,Donly
4. AB,C,D

Options:

87827083585. 1
87827083586. 2
87827083587.3
87827083588. 4

Question Number : 112 Question Id : 87827021123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kaxme 3 cleyronmx MoHATHH OTHOCATCA K AIEMEHTaM CHoKeTa?

A. 3aBsska

B. Paspsska

C. KympmuHarmsd
D. HuBepcusd

1. A, Bonly
2. A B,Conly
3. C,Donly
4, A,B,C,D

Options :



87827083585. 1
87827083586. 2
87827083587. 3

87827083588. 4

Question Number : 113 Question Id : 87827021124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kakue 13 CleqyIONHX IHcaTeNel OTHOCHIIHCE K HATYPAIbHOI IKoe?

A. WM. Typrenes
B. U.ToHuapor
C. A Tepren

D. JI Tomcroi

A, B only
B, C only
C. D only
A, B, C only

ld DI

%

Options :

87827083589. 1
87827083590. 2
87827083591. 3

87827083592. 4

Question Number : 113 Question Id : 87827021124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Kaxue n3 cleqyionmx micatelneil OTHOCHIIHCH K HaTYPaIbHOI IKoe?

A. U. Typrenes
B. H.Tonyapor
C. A Tepren

D. JI Tomcron

[. A,Bonly

2. B, Conly

3. C,Donly

4. A,B,Conly
Options:
87827083589. 1
87827083590. 2
87827083591. 3
87827083592. 4

Question Number : 114 Question Id : 87827021125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kaxue 13 crueqyronmx mponsseeHiii mpuHajiexar M. [[peraese?

A, «lIyimxmmHy»

B. «Moii [TyruxmHy

C. «Cruxu o IIyIknHe)
D

. «[opoxy ITyrmiHay

. A,Bonly
2. B, Conly
3. C,Donly
4. A,Donly

Options :



87827083593. 1
87827083594. 2
87827083595. 3

87827083596. 4

Question Number : 114 Question Id : 87827021125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kaxue 13 cneqyromux IponssefeHHii mprHaaexar M. [[peTaepe?

A. «lIyIIKHHY»

B. «Moii [Tymmxminy

C. «Cruxu o [IymkuHey
D

. «['opoxy ITyrmxHay

. A, Bonly
2. B, Conly
3. C,Donly
4. A,Donly

Options :

87827083593. 1
87827083594. 2
87827083595. 3

87827083596. 4

Question Number : 115 Question Id : 87827021126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Kaxute 13 Ce/TyromuX pOH3BE/IeHI OB OMTyOHKOBAHEI BIIEPBHIE B AYpHATE «HOBBLH
Mp)’

A. «OmiH nexp MBana JleHICOBIY)
B. «YmiHag oxoray

C. «lIpHimoyeHig 00e3bIHED

D. «KapKasckrml [LIeHHEDD)

I. A Bonly
2. A B, Conly
3. C,Donly
4. A, B.Donly

Options :

87827083597. 1
87827083598. 2
87827083599. 3

87827083600. 4

Question Number : 115 Question Id : 87827021126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Kaxute 13 Ce/TyromuX pOH3BE/IeHI OB OMTyOHKOBAHEI BIIEPBHIE B AYpHATE «HOBBLH
Mp)’

A. «OmiH nexp MBana JleHICOBIY)
B. «YmiHag oxoray

C. «lIpHimoyeHig 00e3bIHED

D. «KapKasckrml [LIeHHEDD)

I. A Bonly
2. A B, Conly
3. C,Donly
4. A, B.Donly

Options :

87827083597. 1
87827083598. 2
87827083599. 3

87827083600. 4

Question Number : 116 Question Id : 87827021127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Kagate Grorpadyeckue AeTaTy 13 K13HH A. AXMaTOBOH NOSBIIOTCA B [TO3ME
«Requiem»?

A. Bocrominanue o ru6emi H. ['ymimesa.
B. usHp B 3Bakyarym B Tanmkerre.

C. ApecT ChIHA M XIIOMOTHI 32 HETO.

D. OcBoGokeHNE ChIHA.

B, C, Donly
A, B only
. A, Conly
4. A,C,Donly

Options:

87827083601. 1
87827083602. 2
87827083603. 3

87827083604. 4

Question Number : 116 Question Id : 87827021127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Kagate Grorpadyeckue AeTaTy 13 K13HH A. AXMaTOBOH NOSBIIOTCA B [TO3ME
«Requiem»?

A. Bocrominanue o ru6emi H. ['ymimesa.
B. usHp B 3Bakyarym B Tanmkerre.

C. ApecT ChIHA M XIIOMOTHI 32 HETO.

D. OcBoGokeHNE ChIHA.

B, C, Donly
A, B only
. A, Conly
4. A,C,Donly

Options:

87827083601. 1
87827083602. 2
87827083603. 3

87827083604. 4

Question Number : 117 Question Id : 87827021128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[ITeCTHIECATHIEH ... .

A. TIpEJMOYMTAIOT 0N HaJl YYBCTBOM

B. m300paxator HCKMIOUATEIBHBIH TEPOI B HCKIHOMMTEMBHBIX 00CTOSTENbCTRAX
C. pa3o0IayaroT KyIbT THYHOCTH

D. m3marazor B cTIXaX HIEH (OTTElely

I. B,C,D only
2. A, Bonly
3. A Conly
4, C,D only



Options :

87827083605. 1
87827083606. 2
87827083607. 3
87827083608. 4

Question Number : 117 Question Id : 87827021128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[lecTHIECATHIK ... .

A. TIPEJMOYMTAIOT 0N HaJ| YYBCTBOM

B. m300pakaroT HCKMIOYNTETBHE TEPOT B HCKTIOUNTENBHBIX 00CTOATEBCTBAX
C. pa3o0IayaroT KyIbT THYHOCTH

D. m3marazor B cTHXaX HIEH (OTTEMel

I. B,C,D only
2. A, Bonly
3. A Conly
4, C,D only

Options:

87827083605. 1
87827083606. 2
87827083607. 3

87827083608. 4

Question Number : 118 Question Id : 87827021129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



COOTHeCHTE HMeHa MeCTOMMEHILS 3 CTOMOMKA «A) ¢ HX paspszamit i3 crondmka «by.

«A» «by
A. BesKim [ mpursKarembHoe
B. celq Il Heompe/enEHHoE
C. cBoi [ll.  Bo3BparHOE
D. xoe-uto [V. omperemirenbHoe

I. A-IV,B-IIL, C-L, D-1I
2. AL B-IIL C-IL, D-IV
3. A-IV, B-IIL, C-IL D-I
4, AL B-IL C-1V,D-I

Options:

87827083609. 1
87827083610. 2
87827083611.3
87827083612. 4

Question Number : 118 Question Id : 87827021129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



COOTHeCHTE HMeHa MeCTOMMEHILS 3 CTOMOMKA «A) ¢ HX paspszamit i3 crondmka «by.

«A» «by
A. BesKim [ mpursKarembHoe
B. celq Il Heompe/enEHHoE
C. cBoi [ll.  Bo3BparHOE
D. xoe-uto [V. omperemirenbHoe

I. A-IV,B-IIL, C-L, D-1I
2. AL B-IIL C-IL, D-IV
3. A-IV, B-IIL, C-IL D-I
4, AL B-IL C-1V,D-I

Options:

87827083609. 1
87827083610. 2
87827083611.3
87827083612. 4

Question Number : 119 Question Id : 87827021130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



COOTHECHTE COTTACHEIE M3 CTONOMKA «A) ¢ HX MecTOM 00pa30BaHIA U3 CTONOHKA «by.

«Ay «b»
M| [ ry0HO-TyOHBI

M
] [, mepe/messbIaHbIl / 3yOHL
x
x|

Il  3aHeBHYHEL
IV.  ryGHo-3y0HEL

o|o|=|>

A-[ B-L, C-IL, D-IV
A-IL, B-1V, C-I, D-111
A-[,B-IV, C-IL, D-III
A-IL, B-IL C-I, D-IV

Options:

87827083613. 1
87827083614. 2
87827083615. 3
87827083616. 4

Question Number : 119 Question Id : 87827021130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



COOTHECHTE COTTACHEIE M3 CTONOMKA «A) ¢ HX MecTOM 00pa30BaHIA U3 CTONOHKA «by.

«Ay «b»
M| [ ry0HO-TyOHBI

M
] [, mepe/messbIaHbIl / 3yOHL
x
x|

Il  3aHeBHYHEL
IV.  ryGHo-3y0HEL

o|o|=|>

A-[ B-L, C-IL, D-IV
A-IL, B-1V, C-I, D-111
A-[,B-IV, C-IL, D-III
A-IL, B-IL C-I, D-IV

Options:

87827083613. 1
87827083614. 2
87827083615. 3
87827083616. 4

Question Number : 120 Question Id : 87827021131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



CoOTHeCHTe AHTTIIACKHE (paskl H3 CTOMOIMKA «A) ¢ JX KBHBANCHTAMIL 13 cTONOMKa
«b».

Ay «b»
A. beataloss [ Opocurs B [0
B. benuts on something | I OBITh B 3aMelIATENBCTRE
C. slack water [l  ouens moGuTb Yro-MHb0
D. fling in cne’s teeth [V.  Bpems Me&qy MPUMHBOM H OTTHBOM

. AJILB-IL,C-IV, D]
2. AL B-IL C-1V, D-I
3, AL BAIIL C-L DIV
4. A-L B, C-IV, D-II

Options :

87827083617. 1

87827083618. 2

87827083619. 3

87827083620. 4

Question Number : 120 Question Id : 87827021131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



CoOTHeCHTe AHTTIIACKHE (paskl H3 CTOMOIMKA «A) ¢ JX KBHBANCHTAMIL 13 cTONOMKa
«b».

Ay «b»
A. beataloss [ Opocurs B [0
B. benuts on something | I OBITh B 3aMelIATENBCTRE
C. slack water [l  ouens moGuTb Yro-MHb0
D. fling in cne’s teeth [V.  Bpems Me&qy MPUMHBOM H OTTHBOM

. AJILB-IL,C-IV, D]
2. AL B-IL C-1V, D-I
3, AL BAIIL C-L DIV
4. A-L B, C-IV, D-II

Options :

87827083617. 1

87827083618. 2

87827083619. 3

87827083620. 4

Question Number : 121 Question Id : 87827021132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



COOTHECHTE BO3BPATHBIE TIATOBI H3 CTOMOMKA «A) C HX Pa3paiaMIiL 13 CToNOHKa (b,

Ay «b»
A. BHIEThCA [, obmeBO3BpATHEL TTArON
B. cepmurbes [l.  coGcTReHHO-BOBPATHELI [IAr 0N
C. cHersed [l  maccuBHO-BO3BPATHEL IIArOI
D. MbiThCA [V.  B3aHMHO-BO3BPATHBI [TIarON

1. A-IIL B-IV, C-L, D-II
2. ALV, B-L C-IIL, D-II
3. A-IV, B-III, C-IL, D-I
4. AL B-IV, C-IIL D-I

Options:

87827083621. 1
87827083622. 2
87827083623.3
87827083624. 4

Question Number : 121 Question Id : 87827021132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



COOTHECHTE BO3BPATHBIE TIATOBI H3 CTOMOMKA «A) C HX Pa3paiaMIiL 13 CToNOHKa (b,

Ay «b»
A. BHIEThCA [, obmeBO3BpATHEL TTArON
B. cepmurbes [l.  coGcTReHHO-BOBPATHELI [IAr 0N
C. cHersed [l  maccuBHO-BO3BPATHEL IIArOI
D. MbiThCA [V.  B3aHMHO-BO3BPATHBI [TIarON

1. A-IIL B-IV, C-L, D-II
2. ALV, B-L C-IIL, D-II
3. A-IV, B-III, C-IL, D-I
4. AL B-IV, C-IIL D-I

Options:

87827083621. 1
87827083622. 2
87827083623.3
87827083624. 4

Question Number : 122 Question Id : 87827021133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Coorrecute  cnoknoconmernere nmpemokernd (CCII) w3 ctomimka «A» ¢ IX
paspSIAMH 3 CTOMOMKA (b,

(A «by

A. B cany paspasamics ronoca u | [ CCII ¢ OSCHHTEBHBIM
OBLIT CITBIIIEH CMEX. COF030M.

B. Mama cepuumacs, a cectpa | Il CCII ¢ paszenurensHemM
TPOMKO XOXOTATA. COH030M.

C. He 1o on 3aeuposan Haramse, | Il CCII ¢ mpoTHBHTETBHBM
HE TO OH COXAIeN 0 Hell. COH030M.

D. Ero sorami u3 riveasi, 10 | [V, CCII ¢ cogmHHTEBHEM
eCTb COBEPIIITIOCH IS HETO COFO30M.
HETPHATHOE.

[ A-IIL B-1V, C-I, D-II
2. A-IV,B-L C-IL D-II
3. A-IV,BIIL C-I1, D-I
4. AL B-IV, C-IL Dl

Options:

87827083625. 1
87827083626. 2
87827083627.3
87827083628. 4

Question Number : 122 Question Id : 87827021133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Coorrecute  cnoknoconmernere nmpemokernd (CCII) w3 ctomimka «A» ¢ IX
paspSIAMH 3 CTOMOMKA (b,

(A «by

A. B cany paspasamics ronoca u | [ CCII ¢ OSCHHTEBHBIM
OBLIT CITBIIIEH CMEX. COF030M.

B. Mama cepuumacs, a cectpa | Il CCII ¢ paszenurensHemM
TPOMKO XOXOTATA. COH030M.

C. He 1o on 3aeuposan Haramse, | Il CCII ¢ mpoTHBHTETBHBM
HE TO OH COXAIeN 0 Hell. COH030M.

D. Ero sorami u3 riveasi, 10 | [V, CCII ¢ cogmHHTEBHEM
eCTb COBEPIIITIOCH IS HETO COFO30M.
HETPHATHOE.

[ A-IIL B-1V, C-I, D-II
2. A-IV,B-L C-IL D-II
3. A-IV,BIIL C-I1, D-I
4. AL B-IV, C-IL Dl

Options:

87827083625. 1
87827083626. 2
87827083627.3
87827083628. 4

Question Number : 123 Question Id : 87827021134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



COOTHECHTE JAHHBIE HICAE TPEIOKEHIA 13 CTOONKA «A) € HX PaspaiaMi i3 CTONOHKA
«b.

(A «by

A. He ropjnics 3BaHbeM, a [ ompefeneHHO-MmIYHO0e
TOPJTHCH 3HAHBEM. TIpe/IIOKEHE

B. CryseHToB BhI3BaIN K [Il.  Gesmmnoe MpeMOKEHHE
3ABEYIOLIEMY.

C. berm B Meuers, 3oBu oma. | I o000mEHHO-TIIMHOE

TIpeJIIOKEHHE

D. Ha ymine craHoBmmocs [V.  HeompegeneHHO-THYHOE

TEMHO. TIpeIOKEHNE

[. AL B-IV, C-[, D-II
2. AV, B-L C-IIL D-II
3. AV, B-II, C-IL, D-I
4. AL B-IV, C-IIL D-1

Options:

87827083629. 1

87827083630. 2

87827083631. 3

87827083632. 4

Question Number : 123 Question Id : 87827021134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



COOTHECHTE JAHHBIE HICAE TPEIOKEHIA 13 CTOONKA «A) € HX PaspaiaMi i3 CTONOHKA
«b.

(A «by

A. He ropjnics 3BaHbeM, a [ ompefeneHHO-MmIYHO0e
TOPJTHCH 3HAHBEM. TIpe/IIOKEHE

B. CryseHToB BhI3BaIN K [Il.  Gesmmnoe MpeMOKEHHE
3ABEYIOLIEMY.

C. berm B Meuers, 3oBu oma. | I o000mEHHO-TIIMHOE

TIpeJIIOKEHHE

D. Ha ymine craHoBmmocs [V.  HeompegeneHHO-THYHOE

TEMHO. TIpeIOKEHNE

[. AL B-IV, C-[, D-II
2. AV, B-L C-IIL D-II
3. AV, B-II, C-IL, D-I
4. AL B-IV, C-IIL D-1

Options:

87827083629. 1

87827083630. 2

87827083631. 3

87827083632. 4

Question Number : 124 Question Id : 87827021135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



CooTHeCHTe CTOKHOMOTYIHERHbIE TIPEMTIOKEHIS 13 CTOMOMKA (AN ¢ HX paspsiaMil 13
cTomomKa «by.

(Ay «b»

A. Markad, TouHO OapxatHad | [ CIIOKHONOZYHHEHHOE TPEIOKEHHE
TEMHOTA BOKPYT, Kak OBIBaeT C YCTOBHOH TPHATOYHOI YaCTBE
BITAKHOI BECEHHEH HOBIO.

B. B 10 BpeMd Kak oHa BRIXOMMMA | I  CIIOKHOMOIYMHEHHOE TPEIOKEHIHE
M3 TOCTHHOH, B TEPSAHEN CO CPABHMTEIBHON IIPHATOMHON
TOCTBIIIANCS 3BOHOK. YaCTHIO

C. Jambme Mol He sHamd, Kyga| [l  CIIOKHOMOZIYMHEHHOE TPEIOKEHIE
T, C TIDHAATOYHOI YaCTBE0 MECTA

D. Pa3 Br1 Mommte, T0 A ckaky 3a | [V, CTOKHOMOTUIHEHHOS TPETOKEHHE
BaC, C BPEMEHHOIL TPHJATOHOI YACThIO

[. A-ILB-IV,C-L D-II
. AV, B-L, C-1IL, DI
3. AV, B-IIL C-IL D-I
4, AL B-IV, C-IIL D-I
Options:
87827083633. 1
87827083634. 2
87827083635. 3
87827083636. 4

Question Number : 124 Question Id : 87827021135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



CooTHeCHTe CTOKHOMOTYIHERHbIE TIPEMTIOKEHIS 13 CTOMOMKA (AN ¢ HX paspsiaMil 13
cTomomKa «by.

(Ay «b»

A. Markad, TouHO OapxatHad | [ CIIOKHONOZYHHEHHOE TPEIOKEHHE
TEMHOTA BOKPYT, Kak OBIBaeT C YCTOBHOH TPHATOYHOI YaCTBE
BITAKHOI BECEHHEH HOBIO.

B. B 10 BpeMd Kak oHa BRIXOMMMA | I  CIIOKHOMOIYMHEHHOE TPEIOKEHIHE
M3 TOCTHHOH, B TEPSAHEN CO CPABHMTEIBHON IIPHATOMHON
TOCTBIIIANCS 3BOHOK. YaCTHIO

C. Jambme Mol He sHamd, Kyga| [l  CIIOKHOMOZIYMHEHHOE TPEIOKEHIE
T, C TIDHAATOYHOI YaCTBE0 MECTA

D. Pa3 Br1 Mommte, T0 A ckaky 3a | [V, CTOKHOMOTUIHEHHOS TPETOKEHHE
BaC, C BPEMEHHOIL TPHJATOHOI YACThIO

[. A-ILB-IV,C-L D-II
. AV, B-L, C-1IL, DI
3. AV, B-IIL C-IL D-I
4, AL B-IV, C-IIL D-I
Options:
87827083633. 1
87827083634. 2
87827083635. 3
87827083636. 4

Question Number : 125 Question Id : 87827021136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



CooTHeCHTE HallPaBICHHA C HX OIPEACTICHIAMH.

A. Kmaccrpm [, m300paKeHe YYBCTBHTEILHOTO MIPA YEOBEKA,
€10 TIEPEKIBAHIIL
B. Peamnu [Il.  m00paxeHHE HCKIHOUHTEIBHOIO Tepos B

HCKITIOYHTETBHBIX 00CTOATENBCTBAX.

C. Cenmmventamny | [ M3oGpakeHie KOHQMIKTA MeATY OMTOM I
YYBCTBOM H ITO0E]IBI /10Mra Hajl YYBCTBOM.
D. Pomanminm [V.  M3000paxeHie THITMECKOTO Tepos B
THITITYECKHX 00CTOATENbCTBAX.

[. AL B-1V, C-[, D-II
2. AL B-IL C-IV, DI
3. A-LB-IL C-NIL, D-IV
4, A-ILB-IL C-IV, D-I
Options:
87827083637. 1
87827083638. 2
87827083639. 3
87827083640. 4

Question Number : 125 Question Id : 87827021136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



CooTHeCHTE HallPaBICHHA C HX OIPEACTICHIAMH.

A. Kmaccrpm [, m300paKeHe YYBCTBHTEILHOTO MIPA YEOBEKA,
€10 TIEPEKIBAHIIL
B. Peamnu [Il.  m00paxeHHE HCKIHOUHTEIBHOIO Tepos B

HCKITIOYHTETBHBIX 00CTOATENBCTBAX.

C. Cenmmventamny | [ M3oGpakeHie KOHQMIKTA MeATY OMTOM I
YYBCTBOM H ITO0E]IBI /10Mra Hajl YYBCTBOM.
D. Pomanminm [V.  M3000paxeHie THITMECKOTO Tepos B
THITITYECKHX 00CTOATENbCTBAX.

[. AL B-1V, C-[, D-II
2. AL B-IL C-IV, DI
3. A-LB-IL C-NIL, D-IV
4, A-ILB-IL C-IV, D-I
Options:
87827083637. 1
87827083638. 2
87827083639. 3
87827083640. 4

Question Number : 126 Question Id : 87827021137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



CoorHecnte dBTODRI C HX TTPOM3BECHHAMH.

A. ]I Tlucapes I.  «TBopuectso Opancya Pabmey

B. M. baxmiH II.  «bops0a 3a KI3HEH

C. [0. Jlorman | Il «HMcropiyeckite KOPHI BOMIEOHON CKA3KID)
D. B. IIpom IV, «Crpykrypa XyZI0KECTBEHHOTO TEKCTA)

1. A-L B-IL, C-I1L, D-IV
2. AL B-1, C-1V, D-III
3. Al B-1V, C-I1, D-1
4. A-IV,B-IIL C-I, D-II

Options:

87827083641. 1
87827083642. 2
87827083643. 3

87827083644. 4

Question Number : 126 Question Id : 87827021137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



CoorHecnte dBTODRI C HX TTPOM3BECHHAMH.

A. ]I Tlucapes I.  «TBopuectso Opancya Pabmey

B. M. baxmiH II.  «bops0a 3a KI3HEH

C. [0. Jlorman | Il «HMcropiyeckite KOPHI BOMIEOHON CKA3KID)
D. B. IIpom IV, «Crpykrypa XyZI0KECTBEHHOTO TEKCTA)

1. A-L B-IL, C-I1L, D-IV
2. AL B-1, C-1V, D-III
3. Al B-1V, C-I1, D-1
4. A-IV,B-IIL C-I, D-II

Options:

87827083641. 1
87827083642. 2
87827083643. 3

87827083644. 4

Question Number : 127 Question Id : 87827021138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



CoorHecute dBTOPBI C HAIIPAaBJICHUCM.

A. B. Masxosckuil . CivBomnM
B. A. Axmarosa . HMmaxummsm
C. C. Ecerm . Dyrypusm
D. A. brok V. Axmemsm

. A-IIL B-IL, C-, DIV
2. AL B-IV,C-II, D1
3. AL B-II, C-IV, D1
4, A-IL B-IIL, C-1, D-IV

Options:

87827083645. 1

87827083646. 2

87827083647. 3

87827083648. 4

Question Number : 127 Question Id : 87827021138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



CoorHecute dBTOPBI C HAIIPAaBJICHUCM.

A. B. Masxosckuil . CivBomnM
B. A. Axmarosa . HMmaxummsm
C. C. Ecerm . Dyrypusm
D. A. brok V. Axmemsm

. A-IIL B-IL, C-, DIV
2. AL B-IV,C-II, D1
3. AL B-II, C-IV, D1
4, A-IL B-IIL, C-1, D-IV

Options:

87827083645. 1

87827083646. 2

87827083647. 3

87827083648. 4

Question Number : 128 Question Id : 87827021139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Coorrecrme paboret B. [Iykimina ¢ 1X (opMaMIt MPOSBIEHIS,

A. «ITevKt TaBOYKI) [ pacckas

B. «Xapakrepen Il poman

C. «Bepyron [l  cOopHHK paccka3os
D. « mpumén zats Bam BOMEON [V.  samodumsM

A-I, B-III, C-IV, D-1
A-IV, B-III, C-I, D-II
A-IV, B-IIL, C-I1, D-I
4, AL B-IL C-IV, DI

Options:

87827083649. 1
87827083650. 2
87827083651. 3

87827083652. 4

Question Number : 128 Question Id : 87827021139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Coorrecrme paboret B. [Iykimina ¢ 1X (opMaMIt MPOSBIEHIS,

A. «ITevKt TaBOYKI) [ pacckas

B. «Xapakrepen Il poman

C. «Bepyron [l  cOopHHK paccka3os
D. « mpumén zats Bam BOMEON [V.  samodumsM

A-I, B-III, C-IV, D-1
A-IV, B-III, C-I, D-II
A-IV, B-IIL, C-I1, D-I
4, AL B-IL C-IV, DI

Options:

87827083649. 1
87827083650. 2
87827083651. 3

87827083652. 4

Question Number : 129 Question Id : 87827021140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Pacrionoxkre creytome coOsrTus 13 Ku3HH M. [Tlomoxosa B XpOHOMOIHYECKIH
TOPAZIOK:

A. M. [llormoxoB BeTymaer B KOMMYHHCTHYECKYIO TIAPTHIO.

B. 3asepureHie paGoTE! HaZ BTOPOH KHHTOH poMaHa «IIofHATad LeTHHa)
C. M. Ilomoxosy mprcyxiena Hobemeckas mpeMud.

D. [lyOmuxarms mpomsseeHid «Cyap0a yemoBeKan

[. A-B-C-D
2. A-B-D-C
3. A-D-B-C
4. D-C-B-A
Options:
87827083653. 1
87827083654. 2
87827083655. 3
87827083656. 4

Question Number : 129 Question Id : 87827021140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Pacrionoxkre creytome coOsrTus 13 Ku3HH M. [Tlomoxosa B XpOHOMOIHYECKIH
TOPAZIOK:

A. M. [llormoxoB BeTymaer B KOMMYHHCTHYECKYIO TIAPTHIO.

B. 3asepureHie paGoTE! HaZ BTOPOH KHHTOH poMaHa «IIofHATad LeTHHa)
C. M. Ilomoxosy mprcyxiena Hobemeckas mpeMud.

D. [lyOmuxarms mpomsseeHid «Cyap0a yemoBeKan

[. A-B-C-D
2. A-B-D-C
3. A-D-B-C
4. D-C-B-A
Options:
87827083653. 1
87827083654. 2
87827083655. 3
87827083656. 4

Question Number : 130 Question Id : 87827021141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Pacmiomore creytommie coprTid i3 KisHu A. COKeHHIIEHA B XPOHOMOTHYECKI
TOPSTIOK:

A. Bosppamemme ComkeHimisHa B Pocerto

B. Ileppas myOmmxanyid moecti «OH feHb MBana [[eHHCOBHYA)
C. Comxermpmy npucyAeHa HoOeneBckad mpemid.

D. Apecr ComKeHHI[EHA H €T0 BEICHIIKA Ha 3aIal

I. B-C-D-A
). AB-CD
3. A-D-B-C
4. D-B-C-A
Options:
87827083657. 1
87827083658. 2
87827083659. 3
87827083660. 4

Question Number : 130 Question Id : 87827021141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Pacmiomore creytommie coprTid i3 KisHu A. COKeHHIIEHA B XPOHOMOTHYECKI
TOPSTIOK:

A. Bosppamemme ComkeHimisHa B Pocerto

B. Ileppas myOmmxanyid moecti «OH feHb MBana [[eHHCOBHYA)
C. Comxermpmy npucyAeHa HoOeneBckad mpemid.

D. Apecr ComKeHHI[EHA H €T0 BEICHIIKA Ha 3aIal

I. B-C-D-A
). AB-CD
3. A-D-B-C
4. D-B-C-A
Options:
87827083657. 1
87827083658. 2
87827083659. 3
87827083660. 4

Question Number : 131 Question Id : 87827021142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Pacrionoxkure crejyiome coObITHA 13 K3HH M. bynrakora B XpOHOIOTHYECKIH
TIOPAZIOK:

A. Cwmepts byraxosa

B. I[lepsas myGmiKarud mopecTu «PakoBhle Fiiay

C. Ileppad myOmuxarus mosecti «Codaube cepaten

D. [leppad myOmukarusa pomana «Mactep n Maprapuray

D-C-A-B
B-C-D-A
D-B-C-A
4. B-A-D-C

Options:

87827083661. 1
87827083662. 2
87827083663. 3
87827083664. 4

Question Number : 131 Question Id : 87827021142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Pacrionoxkure crejyiome coObITHA 13 K3HH M. bynrakora B XpOHOIOTHYECKIH
TIOPAZIOK:

A. Cwmepts byraxosa

B. I[lepsas myGmiKarud mopecTu «PakoBhle Fiiay

C. Ileppad myOmuxarus mosecti «Codaube cepaten

D. [leppad myOmukarusa pomana «Mactep n Maprapuray

D-C-A-B
B-C-D-A
D-B-C-A
4. B-A-D-C

Options:

87827083661. 1
87827083662. 2
87827083663. 3
87827083664. 4

Question Number : 132 Question Id : 87827021143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Pacronoxmure CICAVIOIHE HCTOPHYCCKHE COOBITHA B XpOHOHOTH‘IECIG'Iﬁ TTOPALIOK:

A. OcHoBaHe SpMHTAKA

B. OcHopanue TpeThSKOBCKOH ranepen

C. Cosganne MOCKOBCKOTO XyIOKECTBEHHOIO aka/leMHYECKOTO Tearpa
D. OcHopanue bOBIIOro TeaTpa

A-B-C-D
A-B-D-C
A-D-B-C
D-C-B-A



Options :

87827083665. 1
87827083666. 2
87827083667. 3
87827083668. 4

Question Number : 132 Question Id : 87827021143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Pacronoxmre CIICIYIONTHE HCTOPHHYCCKHE COOBITHA B XpOHOHOFH‘IECKPIﬁ TIOPAI0K:

A. OcHoBaHe SpMHTAKA

B. Ocnosanue TpeTbSKOBCKON Talepen

C. Co3manre MOCKOBCKOTO XyI0KECTBEHHOTO aKaJIEMHYECKOTO TeaTpa
D. OcHopanue borbImoro Tearpa

A-B-C-D
A-B-D-C
A-D-B-C
4. D-C-B-A

Options:

87827083665. 1
87827083666. 2
87827083667. 3
87827083668. 4

Question Number : 133 Question Id : 87827021144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Pacrionoxire cneyromme CoBOCOYETAHHA B IIOPAIOK, KK OHH MPOSBIIAIOICS B
rocyIapcTBeHHOM riMHe Pocciickoil Qefeparii.

A. «TBOE TOCTOSHHE
B. «moryyad o

C. «BepHOCTH OTUM3HE)
D. «pomHas 3eMID)

A-B-C-D
B-C-A-D
B-A-D-C
4. B-D-A-C

Options:

I D

87827083669. 1
87827083670. 2
87827083671. 3
87827083672. 4

Question Number : 133 Question Id : 87827021144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Pacrionoxire cneyromme CoBOCOYETAHHA B IIOPAIOK, KK OHH MPOSBIIAIOICS B
rocyIapcTBeHHOM riMHe Pocciickoil Qefeparii.

A. «TBOE TOCTOSHHE
B. «moryyad o

C. «BepHOCTH OTUM3HE)
D. «pomHas 3eMID)

A-B-C-D
B-C-A-D
B-A-D-C
4. B-D-A-C

Options:

I D

87827083669. 1
87827083670. 2
87827083671. 3

87827083672. 4

Question Number : 134 Question Id : 87827021145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Pacronoxure CIICAVIOIIHE PYCCKHE TIPA3THHKH I10 JaTaM HX ITpa3THOBAHILT.

A. Jlenp koHCTHTYIMH Poccun
B. [lpasmmix Mpana Kymamna
C. JleHs moGe/sl

D. Cnassmckag Macnenmia

D-C-A-B
A-B-D-C
C-D-B-A
D-C-B-A



Options :

87827083673. 1
87827083674. 2
87827083675. 3
87827083676. 4

Question Number : 134 Question Id : 87827021145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Pacronoxure CIICAYIOIHE PYCCKHUE ITPA3THHKH T10 JaTaM HX ITPa3HOBaHIL

A. Jlenb koHcTHTYIH Poccun
B. [lpasnmix Mpana Kymamna
C. JleHb mobes!

D. Cnassmckag Macnenria

l. D-C-A-B
2. A-B-D-C
3. C-D-B-A
4. D-C-B-A
Options:
87827083673. 1
87827083674. 2
87827083675. 3
87827083676. 4

Question Number : 135 Question Id : 87827021146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hike aHe! 1Ba BEICKasbIBaHIg — YTBepAeHie Y U Paccyikaerie P:
Yreepiaerne Y [lacTepHak BEICKa3al — ... 00pa3 BXOTHT B 00pas...»

Paccyxene P: Kakad o0pasHas feTamb B POM3BEIEHIH BOCTIPHHIMAETCA
TOMBKO Yepe3 OOMIHi KOHMIKT, a 06t 00pa3HbIil KOH(MIKT CKTabBaeTCA 13
XYJOKECTBEHHEIX JICTATEH.

B ceeme eviuedannvix evickazvieaniil 6!;168})”}””2 NPaeinoH bill omeem:

I. O6a 'Y n P BepueL, 1 P BepHO 00bscHgeT V.

2. 00a Y 1 P pepHsL, 1 P BepHO HE 00BACHAET V.
3. ¥ BepHo, a P HEBpHO.

4, 'Y HeepHo, a P BepHo.

Options:

87827083677. 1
87827083678. 2
87827083679. 3

87827083680. 4

Question Number : 135 Question Id : 87827021146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hike aHe! 1Ba BEICKasbIBaHIg — YTBepAeHie Y U Paccyikaerie P:
Yreepiaerne Y [lacTepHak BEICKa3al — ... 00pa3 BXOTHT B 00pas...»

Paccyxene P: Kakad o0pasHas feTamb B POM3BEIEHIH BOCTIPHHIMAETCA
TOMBKO Yepe3 OOMIHi KOHMIKT, a 06t 00pa3HbIil KOH(MIKT CKTabBaeTCA 13
XYJOKECTBEHHEIX JICTATEH.

B ceeme eviuedannvix evickazvieaniil 6!;168})”}””2 NPaeinoH bill omeem:

I. O6a 'Y n P BepueL, 1 P BepHO 00bscHgeT V.

2. 00a Y 1 P pepHsL, 1 P BepHO HE 00BACHAET V.
3. ¥ BepHo, a P HEBpHO.

4, 'Y HeepHo, a P BepHo.

Options:

87827083677. 1
87827083678. 2
87827083679. 3

87827083680. 4

Question Number : 136 Question Id : 87827021147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hike aHe! 1Ba BEICKasbIBaHIg — YTBepAeHie Y U Paccyikaerie P:

Yrsepaaerne V. [To Maerito A. Teaprosckoro, «OnH ferb Mana [leHucoiday
A. ColkeHHIIbIHA OTHOCHTCA K KaHDY (TIOBECT).

Paccyxnene P: [To MHerno A. TBapI0BCKOTo0, TakOi KaHPOBOH TO/3ar OIOBOK
TIPUJTACT TIPOH3BEIEHIIO (OOTbIIE BECY).

B ceeme eviuedannvix evickazvieaniil 6!;168})”}””2 NPaeinoH bill omeem:

[. OGaY n P BepHsl, 1 P BepHO 00BACHIET V.

2. 00a Y 1 P BepHal, 1 P BepHO He 00BACHIET V.
3. Y BepHO, a P HeBpHo.

4, 'Y HeBepHo, a P BepHo.

Options:
87827083681. 1
87827083682. 2

87827083683. 3
87827083684. 4

Question Number : 136 Question Id : 87827021147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hike aHe! 1Ba BEICKasbIBaHIg — YTBepAeHie Y U Paccyikaerie P:

Yrsepaaerne V. [To Maerito A. Teaprosckoro, «OnH ferb Mana [leHucoiday
A. ColkeHHIIbIHA OTHOCHTCA K KaHDY (TIOBECT).

Paccyxnene P: [To MHerno A. TBapI0BCKOTo0, TakOi KaHPOBOH TO/3ar OIOBOK
TIPUJTACT TIPOH3BEIEHIIO (OOTbIIE BECY).

B ceeme eviuedannvix evickazvieaniil 6!;168})”}””2 NPaeinoH bill omeem:

[. OGaY n P BepHsl, 1 P BepHO 00BACHIET V.

2. 00a Y 1 P BepHal, 1 P BepHO He 00BACHIET V.
3. Y BepHO, a P HeBpHo.

4, 'Y HeBepHo, a P BepHo.

Options:
87827083681. 1
87827083682. 2

87827083683. 3
87827083684. 4

Question Number : 137 Question Id : 87827021148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hixe JdHBI IBa BEICKA3pIBaAHH A

BrickasbiBanme — [; beccorosHoe crnoxHoe ITPETOKCHHC ITPOTHBOIIOCTABIICHO
COFO3HBIM IIPEATTOACHIAM II0 OTCYTCTBHIO COFO3HBIX CPEICTB.

Brickaseisanne - [I: Yacn Geccoro3HOr0 CTOAHOTO MPEITOKEHIA CBA3AHBL IO
CMBICTY H HHTOHALIHHL.

B ceeme eviuedannvix evickazvieaniil ebzﬁepume NnpaeinoH blil omeent.

[. O6a erckasbiBanud I 1 Il BepHBL.
2. O0a eickasbiBanud [ 1 I HeBepHEL
3. BrickazbiBarne [ BepHo, BrIcKasbBaHie I HepepHO.
4, Brickasbipaie | HeBepHO, BhicKasbiarme Il BepHO.
Options:
87827083685. 1
87827083686. 2
87827083687. 3
87827083688. 4

Question Number : 137 Question Id : 87827021148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hixe JdHBI IBa BEICKA3pIBaAHH A

BrickasbiBanme — [; beccorosHoe crnoxHoe ITPETOKCHHC ITPOTHBOIIOCTABIICHO
COFO3HBIM IIPEATTOACHIAM II0 OTCYTCTBHIO COFO3HBIX CPEICTB.

Brickaseisanne - [I: Yacn Geccoro3HOr0 CTOAHOTO MPEITOKEHIA CBA3AHBL IO
CMBICTY H HHTOHALIHHL.

B ceeme eviuedannvix evickazvieaniil ebzﬁepume NnpaeinoH blil omeent.

[. O6a erckasbiBanud I 1 Il BepHBL.
2. O0a eickasbiBanud [ 1 I HeBepHEL
3. BrickazbiBarne [ BepHo, BrIcKasbBaHie I HepepHO.
4, Brickasbipaie | HeBepHO, BhicKasbiarme Il BepHO.
Options:
87827083685. 1
87827083686. 2
87827083687. 3
87827083688. 4

Question Number : 138 Question Id : 87827021149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hixe JiaHBl 1Ba BBICKA3bIBAHMT

Bhickasbiae |: B. bemHHCKiTH BhICKA3al, YTO MBICTIb TIO3THYECKAS MOKET CTaTh
KHBBIM 32POTBIIIEM KHUBOTO CO3TAHILA,

Brickassisarie [1: B. bemisckinii oATaTKIBAET HAC K TOMY, YTOOH TOMEITATECA
pasrajath TaiHyKaxg0ro OOMBIIOrO 03TA Yepes OHHMAHIIE 0cO0EHHOCTEN
TBOPYECKOTO TPOLIECCa.

B ceeme eviutedannvix evickazvieanii 66168})11!?18 NpPaciivn blli omeen.

I. O0a Beicka3biBans | 1 11 BepHEL.

2. O0a BbickasbiBaHus | 1 [l HEBEPHEL

3. Brickasbisanite | BepHO, a BrICKa3biBaHie [l HeRepHO.
4, BrickasbiBanrie | HeBepHO, a BhIcKasbiBaHHe [ BepHo.

Options :

87827083689. 1
87827083690. 2
87827083691. 3
87827083692. 4

Question Number : 138 Question Id : 87827021149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hixe JiaHBl 1Ba BBICKA3bIBAHMT

Bhickasbiae |: B. bemHHCKiTH BhICKA3al, YTO MBICTIb TIO3THYECKAS MOKET CTaTh
KHBBIM 32POTBIIIEM KHUBOTO CO3TAHILA,

Brickassisarie [1: B. bemisckinii oATaTKIBAET HAC K TOMY, YTOOH TOMEITATECA
pasrajath TaiHyKaxg0ro OOMBIIOrO 03TA Yepes OHHMAHIIE 0cO0EHHOCTEN
TBOPYECKOTO TPOLIECCa.

B ceeme eviutedannvix evickazvieanii 66168})11!?18 NpPaciivn blli omeen.

I. O0a Beicka3biBans | 1 11 BepHEL.

2. O0a BbickasbiBaHus | 1 [l HEBEPHEL

3. Brickasbisanite | BepHO, a BrICKa3biBaHie [l HeRepHO.
4, BrickasbiBanrie | HeBepHO, a BhIcKasbiBaHHe [ BepHo.

Options :

87827083689. 1
87827083690. 2
87827083691. 3
87827083692. 4

Question Number : 139 Question Id : 87827021150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hitke [1aHbl 182 BBICKA3EIBAHILY.
Brickassiparmie | OGpasHOCT MOKHO TIOHATH KaK A3BIK HCKYCCTBA.

Brickassiparmie [1: J{1d coszammid XyR0KeCTBEHHBIX 06DA30B THCATED HCTIOMb3YET
OTPOMHBII APCEHAT CPENICTB XYIOKECTBEHHOM BRIPAHTENBHOCTH.

B ceeme eviuedannvix evickazviean 6&68_})1!”!8 HpaeioH blil omeemn;

[. O0a BbickassiBarmd [ 1 11 BepHBL.
2. 00a BbickasbiBarmd [ 1 [ HeBepHEL
3. BeickasbiBanie [ BepHo, a BEICKasbiRaHME [I HEBEPHO.
4, BrickasbiBanne | HeBEPHO, a BRICKaskIRaHmLe [I BEpHoO.
Options:
87827083693. 1
87827083694. 2
87827083695. 3
87827083696. 4

Question Number : 139 Question Id : 87827021150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hirke JaH® 1A BEICKA3HIBAHIS,
Brickassiparmie [ OGpasHOCT MOHO TOHATH KaK A3BIK HCKYCCTBA.

Brickassiparmie [1: J{1d cosmammid Xyn0KeCTBEHHBIX 06DA30B THCATEND HCTIOMb3YET
OTPOMHBII APCEHAT CPENICTB XYIOKECTBEHHOM BRIPAHTENBHOCTH.

B ceeme eviuedannvix evickazvieanil Gbl6€pl£m€ HpaeinoH blil omeen:

[. O0a BbickassiBarmd [ 1 11 BepHBL.

2. O0a rickasbiBarms [ 1 1 HEBEPHBL

3. BrickasbiBanie [ BepHo, a BEICKasbiRaHHE [1 HEBEPHO.
4, BrickassiBanne | HeBEPHO, a BhICKaskiRaHILe [1 BEpHoO.



Options :

87827083693. 1
87827083694. 2
87827083695. 3
87827083696. 4

Question Number : 140 Question Id : 87827021151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hixe JaHBbI J1Ba BRICKA3bIBAHHU AL

Brickasbamie [: FGpOH APaMaTHYCCKOTO IPOM3BEACHIA (CaMOYIIPABILTIOTCAN,
T'OBOPAT, I[EﬁCTB}’IUI, C0O3/dBaA OIPEACICHHOC KOH(I)JIHI{THOG HAIPAKCHHE, KOTOPOL
YAIIIE BCETO IBHKET JICTCTBHE.

Brickazemanie 1I: KoH(MHKT repos B ipaMaTITIecKoM IIPOH3BE/ICHIN BCET/IA ¢
caMIM COOOH.

B ceeme eviuedannuiy evickazvieantil ebz6epume Hpﬂ@ZMbeEﬁ omeem.

1. O0a BbickaseiBarmd [ 1 11 BepHEL

2. O6a BrickasbiBanud [ 11 Il HeBEPHBL

3. Brickazsisarne | BepHo, a BEICKasbIRarIe [ HeBEpHO.
. Boickaseiganne | HeBepHO, a BhickasbiBarie |1 BepHo.

N

Options:

87827083697. 1
87827083698. 2
87827083699. 3
87827083700. 4

Question Number : 140 Question Id : 87827021151 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hite JIaHE! 11Ba BBICKA3bIBAHILY.

Brickasbipamie [: FGPOH APaMaTHYECKOT0 IIPOH3BEACHNA «CAMOYIIPABILTIOTCA),
TOBOPAT, I[EﬁCTBYIUI, CO31aBad OIPEACICHHOS I{OH(I)J'IHI{THOG HAIIDAAKCHUE, KOTOPOS
YaIIIE BCETO IBHKET JICHCTBHE.

BoickasbiBarne II: KoH(MHKT repod B JpaMaTiyeckoM MpoM3BEIeHIH BCera ¢
canzM coGoit,

B ceeme eviueoann vy evickazvieaniii 86168})111’?!8 de@lb’leblﬁ omeem.

1. O0a BercKazbiBard | 1 11 BepHBI.

2. O6a BrickasbiBanis | 11 Il HeBEPHBL

3. Brickassisamne | BepHO, a BEICKasbIRarIe [l HeBEpHO.
. Boickaseisanne | HeBepHO, a BhickasbiBarie |1 BepHo.

N

Options :

87827083697. 1
87827083698. 2
87827083699. 3
87827083700. 4

Sub-Section Number : 2
Sub-Section Id : 878270939
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827021152 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (141 to 145)

Question Label : Comprehension



[TpovnTaiTe HIKeTAHHEI TEKCT H OTBETHTE HA BOMDOCH

O6pa303a}me JUATEKOTB — CBOCTO POa HpOMﬂ?KYIO‘H—[bIﬁ JTaIl Ha IyTH OT SXHHOIO A3bIKd K
TPYIIIC POACTBEHHBIX. ParbIIe MBI MHOTO PAcCYXIATH 0 TOM, KaK 13 OJHOIO A3hIKa-TIPEIKa
MOKET ITOTYHTBCA HECKOBKO A3BIKOB-TIOTOMKOB. Ho Taxon Paclia]l A3bKd HE IIPOHCXOIHT
BHe3amHo. OH YAKC BO MHOrOM IIOATOTOBICH TEM, YIO H JO pacriajia A3hIK 0GbIYHO
HEOTHODPOACH: B Pa3HBIX TOYKAX CBOCTO PACIIPOCTPAHCHIA OH HMCET PasHbIC BapHAHThI

Taxi 00pasoM, MOKHO OETO Cbl CYHTATh, YUTO JHATEKT — 510 OYAVIIIL CAMOCTOATE b HBII
S3IK (71T TI0KA €TIe He TOMHOCTBEO BELIEIMBIMAICS cAMOCTOSTENBHBII M3b1K). OHAKO 3ECh
MHOTOE 3ABHCHT 0T HCTOPHMECKIX 00CTOSTEMBCTB. Ha camom Jlene [ManekTy Jameko He
BCEIZIA (YIACTCA) CTaTh TOMHOMPABHBIM f3bKOM. [IPHMIHA 5TOT0 — B TOH HETOMHOI
CAMOCTOSTEMBHOCTH, () YHKIIOKATbHOM YIIIepOHOCTH AMATEKTA, 0 KOTOPOI ke IIa Petb.

JIANeKT HepEko OLEHIBARTCA TOBOPAIIMI Ha HeM (a TeM 00Mee He TOBODSIIIMI Ha HeM)
KaK pedb B Kakoji-T0 CTeMeHH HeMOMHONEHHAS, BIOPHYHAL, TI0 OTHOMEHHO K (TIPaBIBHOI),
Ha caMoM Jiene 370, KOHEUHO, He TAK: MBI Y TOBODHIIIL, 4TO B BbIKe OBIRAIOT TOMBKO
M3MEHEHNA OT OfHOIH CHCTEMBI K JIYTON, @ He M3MEHEHWS OT (TUIOXOM) CHCTEME K
(xopomei» 1w HaoGopor. Ho Tak Vi YCTPOSH YelloBeK, Y0, TIOCKOMbKY OH HaXOIHT Ie-10
B MIpe (HATIPHME], B OCTYTIKAX JPYTHX THOJEH) (II0X08) H (XODOMIEE), (TPABHIBHOE) I
(HETABIITbHOR), €My XOUeTcs T0 &€ CaMoe HAXONHTb H B MbIKE. [[HATEKT, KOHEUHO, He
(TYUIIEN T He (XYAe) THTePaTyPHOTO A3bika. Ho O ()YHIIOHATBHO OTPAHIEH, H 310 EMY
MeITIaeT,

Sub questions

Question Number : 141 Question Id : 87827021153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OGP&BOBEIHHE POACTBCHHLIX A3BIKOB H3 ITPASA3bIKa IIPOHCXOJUT ... .

CITy4aiHO
HECITYYaIHO
BHE3AITHO
YaCTHYHO

g TRl =



Options :

87827083701. 1
87827083702. 2
87827083703. 3

87827083704. 4

Question Number : 142 Question Id : 87827021154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

l[HElJIEI{T OTJIMYAcCTCA OT A3BIKa ... .

. HepacIrpocTpaHeHHOCTHIO
2. HEOrpaHHYEHHOCTBIO
3. ynomxolieHHueM
4. YacTOTHOCTBIO
Options :

87827083705. 1
87827083706. 2
87827083707. 3

87827083708. 4

Question Number : 143 Question Id : 87827021155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

OTMETBTE MPABHITbHBLI BAPHAHT:

. SI3bIK MATEDATYPHL H JMTEPATYPHBI SBEIK HE OTIHYAIOTCSA PYT OT JPYyTa.
2. JIuTepaTypHBIil S3IK ABIIAETCA YACTBIO A3BIKA THTEPATYPHL.

3. SI3bIK miTEpATYPHI ABIAETCSA YACTBIO IHTEPATYPHOIO A3bIKA.

4, JIHameKT He ABMALTCA YACTHEO A3bIKA THTEPATYPHI.



Options :

87827083709. 1
87827083710. 2
87827083711.3
87827083712. 4

Question Number : 144 Question Id : 87827021156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

l[HElJIEI{T OTJIMYAcCTCA OT A3BIKa ... .

l. TOIBKO Ha (bDHETHIIECI{OM YPOBHE
2. TOJIBKO Ha JIEKCHYECKOM YPOBHE
3. TOJBKO Ha CHHTAaKCHYECKOM YPOBHE
4. Ha PasHBIX YPOBHAX

Options :

87827083713. 1
87827083714. 2
87827083715. 3
87827083716. 4

Question Number : 145 Question Id : 87827021157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Pa3poOneHHOCTH O00r0 S3bIKa MPOHCXOIHUT B PE3YIBTATE ... .

o0pa30BaHH TOCYIApCTR

CHIIBHOT'O OOIIEHI S MeKTy HOCHTEIISMH S3bIKa
c1a00i KOMMYHHKAI[HH MeXTy HOCHTEIISMH SI3bIKa
3aMeITeHHBIX H3MEHEHH B S3bIKE

T o



Options :

87827083717. 1
87827083718. 2
87827083719. 3
87827083720. 4

Question Id : 87827021152 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

[IpounTaiiTe HHKeTAHHEN] TEKCT H OTBETHTE HA BOMPOCH

OﬁpﬁBOBaHHE JUAIEKOTB — CBOET0 POZa HpOMe}I(YTOIII{bII:i JTall Ha ITyTH OT AMHOTO A3hIKd K
TPYIIIE POACTBEHHBIX. ParbIIe MBI MHOTO PacCyxIalmt 0 TOM, KaK H3 OJHOIO A3bIKa-IPEIKa
MOAKET ITOTYHHTRCA HECKOIBKO A3BIKOB-TIOTOMKOB. Ho Taxort pacia]l A3bKa HE IIPOHCXOIHUT
BHe3amHo. OH YAKE BO MHOIOM IIOATOTOBICH TEM, YI0 H JO pacriajga A3bIK 0GbIYHO
HEOTHOPOJCH. B Pa3HBIX TOYKAX CBOETO PAcTIPOCTPaHEHHA O MMCET Pa3HBIC BapHAHTHI.

Taxi 0GpasoM, MOKHO OEITO GBI CYHTATh, YTO JHATEKT — 310 OYAYIIILE CAMOCTOATE b HBII
S3BIK (FLJIE TIOKA EI1I¢ He TIOMHOCTHE BRIEMIBIIHILCS CAMOCTOATENbHEL A36IK). OHAKO 316Ch
MHOTOE 3BHCHT OT HCTOPHYECKIX 00CTOATENbCTB, Ha camom Jene JMATeKTy Jameko He
BCEIZA (YAASTCA) CTATh TOMHOMPABHBIM f3GEKOM. [IPHMIHA 3T0T0 — B TOH HEMOMHOM
CAMOCTOATEMBHOCTH, () YHKIOKAMBHOI YIIepGHOCTH AHANEKTA, O KOTOPOI Ve IITa Petb.

JIHANeKT HepelIko OLIeHIBARTCA TOBOPAITIMI Ha HeM (a TeM G0Tee He TOBODSIITIMIE Ha HeM)
KaK petib B Kakoii-T0 CTeMeHH HeOMHONEHHAS, BTOPHMHAL, 710 OTHOMEHHEO K (TIPABITBHOM),
Ha camoM Jiene 370, KOHEUHO, He TaK: MBI Ve TOBODHIIL, 4TO B MhIke GBBAIOT TOMBKO
M3MEHEHNA OT OFHOIM CHCTEMBI K JIPYTON, @ He IM3MEHEHMS OT (TUIOXOM) CHCTEMH K
xopomeiiy 1mt HaoGopor. Ho Tak Y YCTpOeH YeloBek, 410, IOCKOMbKY OH HAXOTHT Ie-10
B MIpe (HATIPHMED, B TOCTYTIKAX JPYTHX THOJIEH) (IIOX08) H (XOPOMIEE), (TPABHIBHOS) I
(HETABITIEHORY, €My XOUeTcd T0 e CaMoe HAXONHTb H B MbIKe. [[HATEKT, KOHEUHO, He
(TVUIIEN T1 HE (XYAKe) THTePaTyPHOTO M3bika. Ho O ()YHKLHOHATHHO OTPaHIYEH, H 310 EMY
MeIIIAeT,



Sub questions

Question Number : 141 Question Id : 87827021153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Oﬁp&BOBﬂI—H’IE POJICTBCHHBIX A3BIKOB H3 ITPAA3bIKa IIPOHCXOJUT ... .

CITY4aiHO
HECITYYaIHO
BHE3AITHO
4. 4acTHYHO

b =

Options :

87827083701. 1
87827083702. 2
87827083703. 3

87827083704. 4

Question Number : 142 Question Id : 87827021154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

l[HEL]IEI{T OTJIMYACTCA OT A3BIKA ... .

l. HepacIpoCTPaHEeHHOCTHIO
2. HEeOrpaHHYEHHOCTBIO
3. ynompolieHHneM
4. YacTOTHOCTBIO
Options:

87827083705. 1
87827083706. 2

87827083707. 3



87827083708. 4

Question Number : 143 Question Id : 87827021155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

(OTMETBTE TIPABHIBHBLH BAPHAHT:

[, S3bik JMTEPATYPEL 1 J]HTepaTyp}mﬁ SBLIK HE OTTTHYAIOTCA IPVT OT JApyTa.
2. ﬂHTepaTyprIﬁ A3BIK ABILIETCA YACTBIO A3BIKA INTEPATYPEL.
3. JI3BIK JIMTEPATYPLI ABJIACTCA YACTHIO THTEPATYPHOIO S3BIKA.
4, I[HEIJIEKT HE ABIACTCA YaCTbIO A3bIKa THTEPAT YPBL
Options :
87827083709. 1
87827083710. 2
87827083711.3

87827083712. 4

Question Number : 144 Question Id : 87827021156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

l[HEL]IEI{T OTJIMYACTCA OT A3BIKA ... .

l. TOIBKO HA CbDHETHIIECKOM YPOBHE
2. TOIBKO Ha JIEKCHYECKOM YPOBHE
3. TOIBKO Ha CHHTaKCHYECKOM YPOBHE
4. Ha Pa3HBIX YPOBHAX

Options:

87827083713.1
87827083714. 2

87827083715. 3



87827083716. 4

Question Number : 145 Question Id : 87827021157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Pa3po6neHHOCTh O00ro S3bIKa MPOHCXOMHUT B Pe3YbIale ... .

00pa30BaHIA FOCYAAPCTB

CHJIBHOT' O OOIIEHH I MeXKTY HOCHTEISIMH S3bIKa
c1a00i KOMMYHHKALIMH MeX Iy HOCHTEIISIMH SI3BIKA
4. 3aMeJJIeHHBIX H3MeHEHHH B S3bIKE

W b

Options :

87827083717. 1
87827083718. 2
87827083719. 3

87827083720. 4

Sub-Section Number : 3
Sub-Section Id : 878270940
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827021158 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



[Ipounraiire HVKEIAHHEDT TEKCT H OTBETHTE Ha BOIPOCHI

Pycckuii 36K — S3BIK BEHKOrO HAPOJIA, S3BIK BETTHKOM JIHTEPaTYPhL. <...>.

Bemiume H MOMp PYCCKOTO S3bIKAa OOLIETIPH3HAHHBL PycCKHil SI3BIK, KaK TOBOPHI EIIE
Opuapix 3HTENBC, CYUMTAETCS «OHHM H3 CAMBIX CHIBHBIX H CAMBIX OOTaTBIX S3BIKOB) MHpA.

<...> Pycckii S3BIK pacipocTpaHAeTcd BesJle, B cTpaHax 3amama M Bocroka. MHTepee k ero
H3y4eHHIO BO3PAcTacT Ha BCEX MATEPHKaX HallleH TUTaHeTHL.

B 3THX YCIOBMSX HEM3MEPHMO YCHITHBAETCS, YBETHUHBAETCSA OTBETCBEHHOCT BCEX HAC, TEX,
JIIS KOTO PYCCKHIA S3BIK SBIISETCA POJHBIM, 32 €r0 YICTOTY H NPABHIIBHOCTD, 34 er0 TOYHOCTD
H BBIPa3HTeNbHOCTh. «Hajo BIyMBIBaThCA B pedb, B CIOBa», - ropoprn YexoB. «Hamo
BOCTINTEIBATh B ce0e BKYC K XOPOIIEMY SBBIKY, KaK BOCIHTHIBAIOT BKYC K TPaBIOpaM,
XOpoIIeil My3EIKe», - yOexgan Anexceii MakcHMOBHY ['OpBKHI MOIOJOE IOKOJIEHHE
COBETCKHX IHcareneil. M3yueHHe S3bIKa MTOMOTaeT OTKPBITh 3aKOHBI €I'0 Pa3BHTHS, TIPABHIIA
ero yrorpedineHus u crocoGsl 06orareHH.

Hapon — He TobKO TBOpEIL SA3bIKa, HO M IBHTATeNb €0 HCTOpHH. Hapof, BMecTe ¢ TeM, CTOHT
Ha CTpake COKPOBHII[ CBOETO POJHOIO CIOBA, MOMB3YACh HMH H YMHOXKAS HX B CBOeft peun H
CIIOBECHO-IIOATHYECKOM TBOPYECTBE <...>. JINTepaTYPHBI M3BIK CTAHOBHTICSA, 110 0GPasHOMY
BEIpaKeHIO I'OpBKOTro, «OpYXAHEM» BCErO HAapofa ... M3BecTHEI HAIIl S3BIKOBE] aKajeMHK
[Ilep6a TOHKO OXapaKTepH30Bal cBOCOOpasHe PasBHINS PYCCKOTO A3bIKa B COBETCKYEO BIIOXY.
«HeTpy/10BbIE 3TIEMEHTHI IIOTEPSITH BEC B ODIIECTBE, - TOBOPHII OH, - BOIMPOCH IIPOH3BOJICTBA
I €ro OpraHM3alliil CTAIH B LEHTPE BHIMAHIS, BIEMEHTHI IONHTHYECKOrO 06pasoBaHHA
CTQIH BHEAPSTHCS B OGIIECTBEHHOE CO3HAHME BMECTE C CTPEMIEHHEM B TOM WIH JPYTOM
OTHOIIEHHH 3aIlONHHTh MPOMACTh MekIy YMCTBEHHRIM H (H3HYeckiM TpyZoM. Bee aTo
TIPHBENIO K TOMY, YTO ITPOH3BO/ICTBEHHAS TEPMHHOIOTHS CTala BIMBAThCS IIHPOKOIT CTpyeit B
Halll JOITEPATYPHBIH S3BIK, PAcUMpST 3HAKOMCTBO C 3IEMEHTAMH pPa3HOOOPA3HBIX
TIPOH3BO/ICTBEHHBIX TIPOLECCOBY <...>.

B 5BICT]JOM H CIIONHOM TIPOLECCE PASEHTIEL COBPEMEHHOI'O PYCCKOI'O A3BIKA 3aKOHOMEDHO H
CCTECTBEHHO BO3HHKAIOT KGHEﬁ&I{HH, d TaKxe ﬁOJ’[ﬁBHEHHBIﬁ, OTPHIATEIBHEIC ABJIIEHHA B
IMPHEMAX €TI0 yTIUTlJBﬁJIGHHSI, B criocodax TIPHMEHEHHA PA3HBIX €I'0 CTIIIHCTHHECKIX CPEJICTR,
B TIPAKTHKE CIIOBOIIPOH3BOJACTEA H CHDBD}-T[OTPEGJIEHHH, B OTOHOLIEHHHM K JIHMTEPATYPHO-
A3SBIKOBBIM HOPMAM.

[IpHYHH TaKoro pofa OTKIOHEHHH OT YHCTOTE M IIPABHIBHOCTH PeUH OYeHb MHOTO: H
HETIONHOE YCBOGHHE HOPM IIHTEPaTyPHOTO BHIPAKEHHA, H HeAOCTaTOYHO OeperkHOe
OTHOIIEHHE K S3BIKOBOH TPajHIIMH, H HeYMeHbe, H HeXelaHue pa3o0paTscsa B CMBICIIOBBIX
KauecTBaX DasHLIX CNIOB, M BIMAHHE (IyPHOH MOJBI», PAsHEIX JKAPTOHOB, H IKelaHHe
IIErOMLHYTh CIOBOM MMM ()pa3soil, KOTOphIe KaXYTCA OCTPRIMH H BHIPA3HTENBHBIMH, H
MHOTOE JIPYTOE...

Sub questions

Question Number : 146 Question Id : 87827021159 Question Type : MCQ Option Shuffling : No
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[Ipounraiire HVKEIAHHEDT TEKCT H OTBETHTE Ha BOIPOCHI

Pycckuii 36K — S3BIK BEHKOrO HAPOJIA, S3BIK BETTHKOM JIHTEPaTYPhL. <...>.

Bemiume H MOMp PYCCKOTO S3bIKAa OOLIETIPH3HAHHBL PycCKHil SI3BIK, KaK TOBOPHI EIIE
Opuapix 3HTENBC, CYUMTAETCS «OHHM H3 CAMBIX CHIBHBIX H CAMBIX OOTaTBIX S3BIKOB) MHpA.

<...> Pycckii S3BIK pacipocTpaHAeTcd BesJle, B cTpaHax 3amama M Bocroka. MHTepee k ero
H3y4eHHIO BO3PAcTacT Ha BCEX MATEPHKaX HallleH TUTaHeTHL.

B 3THX YCIOBMSX HEM3MEPHMO YCHITHBAETCS, YBETHUHBAETCSA OTBETCBEHHOCT BCEX HAC, TEX,
JIIS KOTO PYCCKHIA S3BIK SBIISETCA POJHBIM, 32 €r0 YICTOTY H NPABHIIBHOCTD, 34 er0 TOYHOCTD
H BBIPa3HTeNbHOCTh. «Hajo BIyMBIBaThCA B pedb, B CIOBa», - ropoprn YexoB. «Hamo
BOCTINTEIBATh B ce0e BKYC K XOPOIIEMY SBBIKY, KaK BOCIHTHIBAIOT BKYC K TPaBIOpaM,
XOpoIIeil My3EIKe», - yOexgan Anexceii MakcHMOBHY ['OpBKHI MOIOJOE IOKOJIEHHE
COBETCKHX IHcareneil. M3yueHHe S3bIKa MTOMOTaeT OTKPBITh 3aKOHBI €I'0 Pa3BHTHS, TIPABHIIA
ero yrorpedineHus u crocoGsl 06orareHH.

Hapon — He TobKO TBOpEIL SA3bIKa, HO M IBHTATeNb €0 HCTOpHH. Hapof, BMecTe ¢ TeM, CTOHT
Ha CTpake COKPOBHII[ CBOETO POJHOIO CIOBA, MOMB3YACh HMH H YMHOXKAS HX B CBOeft peun H
CIIOBECHO-IIOATHYECKOM TBOPYECTBE <...>. JINTepaTYPHBI M3BIK CTAHOBHTICSA, 110 0GPasHOMY
BEIpaKeHIO I'OpBKOTro, «OpYXAHEM» BCErO HAapofa ... M3BecTHEI HAIIl S3BIKOBE] aKajeMHK
[Ilep6a TOHKO OXapaKTepH30Bal cBOCOOpasHe PasBHINS PYCCKOTO A3bIKa B COBETCKYEO BIIOXY.
«HeTpy/10BbIE 3TIEMEHTHI IIOTEPSITH BEC B ODIIECTBE, - TOBOPHII OH, - BOIMPOCH IIPOH3BOJICTBA
I €ro OpraHM3alliil CTAIH B LEHTPE BHIMAHIS, BIEMEHTHI IONHTHYECKOrO 06pasoBaHHA
CTQIH BHEAPSTHCS B OGIIECTBEHHOE CO3HAHME BMECTE C CTPEMIEHHEM B TOM WIH JPYTOM
OTHOIIEHHH 3aIlONHHTh MPOMACTh MekIy YMCTBEHHRIM H (H3HYeckiM TpyZoM. Bee aTo
TIPHBENIO K TOMY, YTO ITPOH3BO/ICTBEHHAS TEPMHHOIOTHS CTala BIMBAThCS IIHPOKOIT CTpyeit B
Halll JOITEPATYPHBIH S3BIK, PAcUMpST 3HAKOMCTBO C 3IEMEHTAMH pPa3HOOOPA3HBIX
TIPOH3BO/ICTBEHHBIX TIPOLECCOBY <...>.

B 5BICT]JOM H CIIONHOM TIPOLECCE PASEHTIEL COBPEMEHHOI'O PYCCKOI'O A3BIKA 3aKOHOMEDHO H
CCTECTBEHHO BO3HHKAIOT KGHEﬁ&I{HH, d TaKxe ﬁOJ’[ﬁBHEHHBIﬁ, OTPHIATEIBHEIC ABJIIEHHA B
IMPHEMAX €TI0 yTIUTlJBﬁJIGHHSI, B criocodax TIPHMEHEHHA PA3HBIX €I'0 CTIIIHCTHHECKIX CPEJICTR,
B TIPAKTHKE CIIOBOIIPOH3BOJACTEA H CHDBD}-T[OTPEGJIEHHH, B OTOHOLIEHHHM K JIHMTEPATYPHO-
A3SBIKOBBIM HOPMAM.

[IpHYHH TaKoro pofa OTKIOHEHHH OT YHCTOTE M IIPABHIBHOCTH PeUH OYeHb MHOTO: H
HETIONHOE YCBOGHHE HOPM IIHTEPaTyPHOTO BHIPAKEHHA, H HeAOCTaTOYHO OeperkHOe
OTHOIIEHHE K S3BIKOBOH TPajHIIMH, H HeYMeHbe, H HeXelaHue pa3o0paTscsa B CMBICIIOBBIX
KauecTBaX DasHLIX CNIOB, M BIMAHHE (IyPHOH MOJBI», PAsHEIX JKAPTOHOB, H IKelaHHe
IIErOMLHYTh CIOBOM MMM ()pa3soil, KOTOphIe KaXYTCA OCTPRIMH H BHIPA3HTENBHBIMH, H
MHOTOE JIPYTOE...
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